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�;)�(+���;���
� �
�8������
� '�����8�+��!�3
�''
� � 1
�
�
�'
� � 
��+
�;)�(+���;���
��
� � �
�;(
������ χ2;
����������� �
�
��
������� ������� �3 �� ���*��� *������� �
��6+��! ���6 � ��!���1
�'�����'�� ��
�
*��
���6����� � 1����� 
��������3 #��
���� ���
'��� ���
�
�
��
� �
�6@��, +���
� ���6
�
�� ����������� �����E����� �0����� ������1����(�!��� 1�� �I���3

���� �������	
�� 
���� ������ �� ���������	 
�
�

!�!� ��"
�#
�� #
��
� x = (x1, . . . , xn)� n;6��
���!� �
����, A = (aij) *
6�� n×n;
�
9���!�> �����
���� � �����E3 ��� ���6� �, +��� �

Q = Q(x) = x�Ax =

n∑
i=1

n∑
j=1

aijxixj

�$	��	�
��� %���	 �	
�&	 k, +� A ������ k3 �
!�'� ��"
�#
�� #
��
� b1, . . . , bm 
�� m ���I �
�����
�6��
� R

n;'
�, yi = b�
i x,

i = 1, . . . , m, �+�� x ∈ R
n3 ��� ���6� �, +��� � Q =

m∑
i=1

y2
i =

m∑
i=1

(
b�

i x
)2
�$	��	�
���

%���	 ��	(	����
 %��	 k, +� � b1, . . . , bm �
�����
�6��
� ������ k3 �
!�!� ������ !��"�� Q ��
��#� �
���$�%��� &��$����&'�  ����( )&&�� Q ������ ���*
��"�
�& � �
���$����  �&����(

��������	
� !� #
��
� Q = x�Ax, �+�� A �����
���� �, *����8� ��
��6
C���, n×n;

� �����E3 ��, +��� Q ������ k, 6
C�8(�! ��
���� ��� �
�
���, +��� A ������ k3 &


���� A;��� k 6' *����8� ����������
 ���4 λ1, . . . , λkJ � �0''� ����������
 03 �� A
�����E 
����� A = U�ΛU ����'��, �+�� �� U ����������� �����E ����� �� A �����������
������
������, � Λ 6��������� �����E 1����!��'�� *
6�� �� A ����������
� ������4

Λ =


λ1

3 3 3
λk

0
3 3 3

0

 .

����� b�
i =

√
λiu

�
i , i = 1, . . . , k ������������ 9�+�� u�

i �� U �����E i;
6�� ����
�����>

Q = x�Ax = x�U�ΛUx =

k∑
i=1

λi

(
u�

i x
)2

=

k∑
i=1

(
b�

i x
)2

=

k∑
i=1

y2
i .

��� � b1 =
√

λ1u1, . . . , bk =
√

λkuk �
�����
�6��
� ������ k, +���
� �� u1, . . . , uk �
�;
����� ����������� �
�6��
�� ��������, ��

√
λ1 �= 0, . . . ,

√
λk �= 03

'� %
�1��68���, �
��@� 1
�, +��� � b1, . . . , bm �
�����
�6��
� ������ k, ��

Q =
m∑

i=1

(b�
i x)2 =

m∑
i=1

x�bib
�
i x = x�

(
m∑

i=1

bib
�
i

)
x.
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������ ��

:
 �
�� ���� ��, +��� �
∑m

i=1 bib
�
i n × n;
� �����E ������ k3

#
��
� � b1, . . . , bm �
�����
�6��
� ����� ��1
��8�
�� ����� L3 ��
� ����� k;6��
���!�3
:
���� �, +��� �

(∑m
i=1 bib

�
i

)
9I�3 6��60���
�> �����E ��*�
�
 �**
� L3 %��
� �
�;

����
�
� x �
������ (
m∑

i=1

bib
�
i

)
x =

m∑
i=1

bi

(
b�

i x
) ∈ L,

8��
(∑m

i=1 bib
�
i

)
��*�
�
 '
��
 ��� L;'
�3 #
��
� ���� v �

(∑m
i=1 bib

�
i

)
� ���
��'��

���!3 �����

0 = v�
(

m∑
i=1

bib
�
i

)
v =

m∑
i=1

(
b�

i v
)2

����� v ⊥ bi, ���6
� i;�
3 �
+�� v 
�
�
 L ����������� ���*�
�
��
���
�3 K�;
����� ���6 � ��*��� �� � � ����� 6��
���!����� 0���
�
, ���6 �� ����� �� �����������
���*�
�
��
�
 6��
���!����� 0���
�
 n3 ����

(∑m
i=1 bib

�
i

)
��*�
�
 �**
� L3 �

!�!� ���&�� ���� %��
� 
�� ���6����� � 1���� 
�����
��7
� �
�+�������� � ����;
�
���� � �����E��, 8�� � ���6����� � 1���� ������ 
�����
��7
� 6
C�����3 K������

�� ���6����� � 1���� �0''1��
��**
� 
�����8�+��! ���
���� 1����� �����
�0���
�
����3
�
+�� � ���'�6���� 1�� 
�����
��7����� �
� �0��
��
�@� � 6
C�8(�!'!�, +��
� � ���;
'�6���� 1�� �� � ���� 
��
�������� �����6! ���
�'�� �����+��� � ��3 �

!�!� ����	� �

Q = Q(x) = x�Ax = (x1, x2)

(
2 1
1 1

)(
x1

x2

)
= 2x2

1 + 2x1x2 + x2
2

���6����� � 1���� ������ -, ���
� � �����E���� ������ -3
L��8�� � 
�� Q;� ���
���� 1����� �����
�0���
�
���� ���1��
 �!6��3 #
��
� 
����0�

b1 = (1, 1)�, b2 = (1, 0)�3 $������(
b�

1 x
)2

+
(
b�

2 x
)2

= (x1 + x2)
2 + x2

1 = Q(x).

%�������, c1 = (
√

2, 1/
√

2)� �� c2 = (0, 1/
√

2)� ������������(
c�

1 x
)2

+
(
c�

2 x
)2

= (
√

2x1 + x2/
√

2)2 + (x2/
√

2)2 = Q(x).

%��6 � b1, b2, ���6 � c1, c2 �
�����
�6��
� ������ -3 �

���� � 
������	
�� 
���� ������������� ���
��

!�'� ���&�� ���� �
��@� 1
�, +��� � Q ���6����� � 1���� 
����� ���
���� 1����� ����;
�
�0���
�
���� �

Q =
(
b�

1 y
)2

+ · · · + (
b�

s y
)2

�� �
Q =

(
c�

1 y
)2

+ · · · + (
c�

r y
)2

����'�� ��3 ����� � b1, . . . , bs �
�����
�6��
� ����� ��1
��8�
�� ����� �
�
��
��� � c1, . . . , cr

�
�����
�6��
� ����� ��1
��8�
��
�3
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���
� '
'�����8������ �
�����@� � Q = y� (∑s
i=1 bib

�
i

)
y �� �Q = y� (∑r

i=1 cic
�
i

)
y


�����8�������3 ��
��
� � �����E� �
�
��
���3 �
+��
∑s

i=1 bib
�
i =

∑r
i=1 cic

�
i 3 K������

�� 
��� �����E ��*�
�
 � b1, . . . , bs �
�����
�6��
� ����� ��1
��8�
�� �����, �8� � ����6���
� c1, . . . , cr �
�����
�6��
� ����� ��1
��8�
��3 �

!�'� ����	� L��8�� � 
�� �� y2
1 + y2

2 �����
�0���
�
� ��� ���6����� � 1���� 0���
�
����4

y2
1 + y2

2 = Q1 + Q2 =
1

2
(y1 + y2)

2 +
1

2
(y1 − y2)

2.

��� Q1 = (y1/
√

2 + y2/
√

2)2 �� Q2 = (y1/
√

2 − y2/
√

2)23 � Q1 �� � Q2 ���6����� �
1����� �� y = (y1, y2)

� �
���� ���
���� 1�������� �����
�0���
�
�4

Q1 = z2
1 , �+�� z1 = (1/

√
2, 1/

√
2) (y1, y2)

� = b�
1 y,

Q2 = z2
2 , �+�� z2 = (1/

√
2,−1/

√
2) (y1, y2)

� = b�
2 y.

� z = (z1, z2)
� �
������

z = Ay =

(
1/
√

2 1/
√

2

1/
√

2 −1/
√

2

) (
y1

y2

)
,

�
+�� �� I� z1, z2 ������!��� � ���� y1, y2 ������!�'!� �� A ����������� �����E���� ���!
������1����(�!��� ��*� � �
�3 �

� 1
��� ���� ������ ����������''�� �� ������
�3

!�!� ����	� !��"�� y = (y1, . . . , yn)�( !��"���& Q1, . . . , Qs �
 y1, . . . , yn �����
�&
&��$����&'�  �����( +��",&  ��� -��" ���� (Qi) = ni� i = 1, . . . , s .�

n∑
i=1

y2
i = Q1 + · · ·+ Qs.

�&&�� .� ���& �&&�� �.��
�& ��"�� A ����������� �����/� ���"�� z = Ay� z = (z1, . . . , zn)�

���
�.����

Q1 = z2
1 + · · ·+ z2

n1
, Q2 = z2

n1+1 + · · ·+ z2
n1+n2

, . . . ,

Qs = z2
n1+···+ns−1+1 + · · ·+ z2

n1+···+ns

������,�� -� n1 + n2 + · · ·+ ns = n(

��������	
� !� �
��@� 1
�, +��� ���
��� � 1
��� A �����E3 ����� A�A = I �����

n∑
i=1

z2
i = z�z = y�A�Ay = y�y =

n∑
i=1

y2
i =

s∑
j=1

Qj =

n1+···+ns∑
i=1

z2
i

���6
� z ∈ R
n;�
3 ����� n = n1 + · · · + ns3

'� �
��@� 1
�, +��� n1 + · · · + ns = n3 %��
� Q1 n1 ����I ���6����� � 1����, 8��
M�
��
� �����
��� ����8����'��N n1 6' ���
���� 1���� ��
�
*
�4

Q1 =
∑n1

i=1
δiz

2
i ,



�� � �����
�����
�
������ ��

�+�� δi = ±1, zi = b�
i y, i = 1, . . . , n13 F�����! ���� Q2, . . . , Qs;�
 ��3 %��
� n1 +

· · · + ns = n, 8�� � Qi ���6����� � 1����� 
�����8����'�� ��
�
*�� b�
j n;6��
���!�

����
�������� ���6 
����� ��� 8���, 
�� n × n;
� �����E�� ��* ��4

A =


b�

1
333

b�
n1
333

b�
n

 .

O
�0��
 ���� D � δi 6��������� 
�
�
�'�� ���! 6��������� �����E�� 9δi;�
�  ���������
����
�6'
� 8�� � �
, ���� � �
�1
�
�� b�

i �
�������� �� A �����E'��>3 �����

y�A�DAy = z�Dz =

n∑
i=1

δiz
2
i =

s∑
j=1

Qj =

n∑
i=1

y2
i = y�y

���6
� y ∈ R
n;�
3

%��
� 
�� ���6����� � 1���� 
�����
��7
� �
�+�������� � �����
���� � �����E��,

���� A�DA = I3 �''�� �6!6��, +��� A ���
����+��!, �� D = (A�)−1A−1 = (A−1)�A−13
�
+�� D 
�� *����8� ��
��6
C��� �����E���� 
��
���, ��� ���*��� � 1����!��'�� ��
;
�
*�� δi;� 
����
 �
� �
+
� −1, ���� D = I3 &
 
���� A�A = I, ���� A �����������3
����''�

Q1 =
∑n1

i=1
z2

i ,

�� +�����! ��� 1
�� � �0''� Qj;�
 ��3 �

���� � ������������ 
 	�������� ��������

0 5 10 15 20 25 30 35 40 45 50
0
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0.1

0.12

χ2
20 χ2

20
(5)

	�
� ���� χ2
20 �� χ2

20(5) �7�7���1@������


!�)� ��"
�#
�� #
��
�
� ξ1, . . . , ξn 1@��
��
�, �������� 
�������I ���!��8�7���� ������!�4
ξi ∼ N (ai, 1), i = 1, . . . , n3 ����� �

9232> ζn = ξ2
1 + · · · + ξ2

n



�� �� ��	
���
������

���!��8�7���� ������!� n ���'�6���� 1��I, λ =
∑n

i=1 a2
i �
�;(
���������� *������
�7


���#�
����� ��
�
�� ��� ��������*
	� �
�
��@�3 O
�0���
 χ2
n(λ)3 �

� �
�;(
������ �+�;�����
� 
������� �''�� � �*
(����� 
�
�'
�, ������ � ����6 �!
ξi ���!��8�7���� ������!� 0 ���+��! �����7
�, �**
� � ����''�� �
����
�� 9(
������>
�+�;�����
� 
�������3 ���� χ2

n(0) ≡ χ2
n3

� χ2
20 �� χ2

20(5) �7�7���1@������
 � 2323 �'��� ���+��!3
� �0�
��
�� ���8��� ��� � �����, +��� �
� �
�� � ξi;� ai ���+��! �����
�� �@�0�;�@�0�

���
���, �� 
������� (��� � λ =
∑n

i=1 a2
i �
�;(
���������� *������
���� 1@��3

!�!� �������� !��"���& τ1, . . . , τn  ,�������� �������� ����
���� �����
#�0�.�� �����
�&1
τ1 ∼ N (

√
λ, 1)� τ2 ∼ N (0, 1), . . . , τn ∼ N (0, 1)� �-�� λ ≥ 0( )&&��

923-> τ 2
1 + · · · + τ 2

n

����
���� �����"�
�& �
 23(34*��� �$��� ζn ����
�������� ������"���& �� � λ =
∑n

i=1 a2
i

 ���.���� &���.�#�� a1, . . . , an �
���&(

��������	
� #
��
� � B = (bij) n × n;
� ����������� �����E 
��� ����4

b11 = a1/
√

λ, . . . , b1n = an/
√

λ .

���
� B �����E ���
���, +��� �� 
��� ����� 
��8�� �
���� 
�������� +����I���I, 
� ��
��;
��8�+
�� ����������� '������, �� B ����� � '�����
������ �
���
�3

#
��
� ξ = (ξ1, . . . , ξn)�, �+�� ξ1, . . . , ξn � 23<3 6
C�8(�!'
��
�3 #
��
� τ = Bξ3
%��
� ξ 
�������� Nn(m, I), �+�� m = (a1, . . . , an)�, 8�� τ ∼ Nn(Bm, I)3 �����
τ ����6������, τ1, . . . , τn, 
��@��
�
� �������� 
�������I �� ����
�������� ���!��8�7����
������!�3 P�� 1@��
��
�
� ��3 � ���+��! �����
�� *
6�� � Bm �
���� ����6������3 ����
Eτi = b�

i m , i = 1, . . . , n, �+�� b�
i � B �����E i;
6�� ����3 &
 b1 = λ− 1

2 m, ����''�
b2, . . . , bn 
��
 �
���
�
�3 �����

Eτ1 = λ− 1
2 m�m = λ− 1

2

n∑
i=1

a2
i = λ− 1

2 λ =
√

λ .

Eτi = b�
i b1

√
λ = 0, i = 2, . . . , n.

�
+�� τ1, . . . , τn ��
���8�� � ���
� 1
����
�
��3 %�������∑n

i=1
ξ2
i = ξ�ξ = ξ�B�Bξ = τ�τ =

∑n

i=1
τ 2
i .

�
+�� �� 923-> 
�����8��� �
��
�@�3 �
!�'� �������� � ���*�������� χ2

n(λ) &-�*�.�"
�� ����
��� &���&�����
��&'�  ,���.�"�1

ϕ(t) = (1 − 2it)−n/2 exp[itλ(1 − 2it)−1];

���-��� .��.&�1
Eζn = n + λ;

�
�����.�"
���1
D

2ζn = 2(n + 2λ);

 ��$��.��1

β1(ζn) =

√
8(n + 3λ)

(n + 2λ)3/2
;



�� � �����
�����
�
������ ��

���'������1

β2(ζn) =
12(n + 4λ)

(n + 2λ)2
.

��������	
� #
��
� ξ ∼ N (m, 1)3 ����� ξ2 ������
������� � 1@������
4

ϕξ2(t) =

∫ +∞

−∞
eitx2 1√

2π
e−

(x−m)2

2 dx =

=

∫ +∞

−∞

1√
2π

exp

{
−1

2

(
x
√

1 − 2it − m√
1 − 2it

)2
}

dx exp

{
itm2

1 − 2it

}
=

=
1√

1 − 2it
exp

{
itm2

1 − 2it

}
,

�+�� ��  ����! ��*��'
� ��

y = x
√

1 − 2it − m√
1 − 2it

+
��
��
�8���� ���
��@� 
�3 �� 8�� ��*��� ������
������� � 1@������
�'�� ����������
�6!6�� χ2

n(λ) ������
������� � 1@������
3
F� ξ ∼ N (m, σ2), �����

Eξ2 = σ2 + m2, D
2ξ2 = 2σ4 + 4σ2m2

9
�  �!''�� � ����6��6 ���������� �������
�
��
 ��*+��� �>3 �� ��� ��������� � χ2
n(λ)

6
C�8(�!���" �
!�'� ������ 2χ2 �$$#���� �.���(4 !��"���& ηn .� ηm  ,������� χ2*����
���� �����
#�0�.��
�����
�& n� ���( m �
���$����  �&&��� �������� λ1� ���( λ2 ���*������������ �����.������(
)&&�� �
 ηn + ηm �����
� n + m �
���$����  �&�� λ1 + λ2 ���*������������ �����.���0
χ2*����
����(

� ���
� ������'�� ��1
�
��
4 1@��
��
� χ2;
� 0���
�
 χ2, � ���'�6���� 1���� �� �
�
�;(
���������� *������
�
� *
6�� 0���
�6!6���3
��������	
� #
��
�
� ξ1, . . . , ξn+m 1@��
��
� �������� 
�������I��4 ξi ∼ N (ai, 1), i =
1, . . . , n+m3 ηn;
� ξ2

1 + · · ·+ ξ2
n;����, ηm;
� *
6�� ξ2

n+1 + · · ·+ ξ2
n+m;���� �
*�
�
������,

ηn + ηm = ξ2
1 + · · ·+ ξ2

n+m

�6!6��, 
� *
6�� n+m ���'�6���� 1��I, λ1+λ2 �
�;(
���������� *������
�7 �+�;�����
�

�������I3 �
!�+� ��"
�#
�� #
��
�
� ξ �� η 1@��
��
� χ2;
�������I ���!��8�7���� ������!�4 ξi ∼
χ2

n(λ), ηi ∼ χ2
m3 ����� �

923<>
ξ

n

/ η

m
���!��8�7���� ������!� n �� m ���'�6���� 1��I, λ �
�;(
���������� *������
�7 
���
#�
����� F ���������*
	� �
�
��@�3 �

� �
�;(
������ F ;
������� �''�� � �*
(����� 
�
�'
�, ������ � ����6 �! ξ ���!��8�7����
������! �� (
������, �**
� � ����''�� �
����
�� 9(
������> F ;
�������3



�� �� ��	
���
������

��!� � "	� ���#�� ���������

!�)� ������ ,
�����-�#��	
� !��"���& ξ1, . . . , ξn  ,������� �����
#�0�.�� �����
�&�
ξi ∼ N (ai, 1)� i = 1, . . . , n( !��"���& Q1, . . . , Qs � ξ1, . . . , ξn &��$����&'�  ������
���� (Qi) = ni� i = 1, . . . , s( +��",&  ��� -��"

ξ2
1 + · · ·+ ξ2

n = Q1 + · · ·+ Qs.

)&&�� Q1, . . . , Qs �&&�� .� ���& �&&��  ,��������& .� χ2
n1

, . . . , χ2
ns

����
�����&� -�
n1 + · · · + ns = n(

)���� �
 ������� Qi ���*������������ �����.����1 Qi(a)� �-�� a = (a1, . . . , an)�(

��������	
� !� #
��
�
� Q1, . . . , Qs 1@��
��
�
�, Qi 
�������� χ2
ni
, i = 1, . . . , s3

����� � χ2;�668(�!� ���
� ���*��� Q1 + · · ·+Qs 
�������� χ2
n1+···+ns

3 &
 Q1 + · · ·+Qs =
ξ2
1 + · · · + ξ2

n, ����
� �� 
�������� 6
C�8(�! ��
���� χ2
n3 �
+�� n1 + · · · + ns = n3

%
��
��
��@�, +��� ��� �
� ���� �@�0� ��@���� � ���� (Qi) = ni 1
����
��
3

'� #
��
� ���� n1 + · · ·+ns = n3 �� 2323 �
��� ����� ���
��� ����� A �����������
�����E, +��� �� η = Aξ;�
 9�+�� η = (η1, . . . , ηn)�, ξ = (ξ1, . . . , ξn)�)

Q1 = η2
1 + · · · + η2

n1
, Q2 = η2

n1+1 + · · · + η2
n1+n2

, . . . ,

Qs = η2
n1+···+ns−1+1 + · · · + η2

n1+···+ns
.

K������ ξ ∼ Nn(a, I), 
���� η = Aξ ∼ Nn(Aa, AA�) = Nn(Aa, I), +���
� A ����;
������� �����E3

�
+�� η ����6������ 1@��
��
�, 2 ��!���I ����������3 Qi *
6�� ni 6' ���
��
� �
�����
�0���
�
, �
+�� χ2

ni

�������I3 %��
� �@�0�'0�� Qi;� 
�����8����'�� ������ ηj;�

�
� �
���
� �����, 8�� Qi;� 1@��
��
�
�3

)� � �
�;(
���������� *������
�3 � �
���'�� �6��� 
�����8��� Q1 = z2
1 + · · ·+ z2

n1
J

�����
�
�
� ��8���4

Q1(y) = (b�
1 y)2 + · · · + (b�

n1
y)2, y ∈ R

n,

�+�� b�
1 , . . . , b�

n �� A �����E ����
������3 ��� � ξ ���+��! ����� �
�����, ���� y = a
+
���� ���
4

Q1(a) = (b�
1 a)2 + · · ·+ (b�

n1
a)2 = (Eη1)

2 + · · · + (Eηn1)
2.

��  �!''� *
6��, � Q1 = η2
1 + · · ·+ η2

n1
���*���, �**
� Q1 �
�;(
���������� *������
�
3

F�����! ��� Q2, . . . , Qs;�
3 �

!�)� ���&�� ���� � 1
��� '�����8���'!� ��6
�@��, +��� � 
��+
�;)�(+���;���
� 1
����
�
�

�
��� � ξ2

1 + · · · + ξ2
n �
��
� �����
�0���
� 
����� � ξ1, . . . , ξn ���
���� 1����� �����
�;

0���
�
����4
ξ2
1 + · · ·+ ξ2

n = (b�
1 ξ)2 + · · ·+ (b�

n ξ)2,

�+�� �� ηi = b�
i ξ, i = 1, . . . , n, ���
���� 1����� 1@��
��
�
�, �� ηi ∼ N (b�

i a, 1)3 ���, Qj


�
� �0�@� �� 
��� n1 6', Q2 � �0�
��
�� n2 6', 3 3 3 �����
�0���
�
3
F� 
��+
�;)�(+���;���
� 1
�����
� �
��
�� ���
��� � Qi ���6����� � 1�������� ����;

����
� ���
���� 1����� �����
�0���
�
���� �0����� 
�����8����, ����� � �@�0�'0�� Qi;�

�����8����'�� ��
�
*�� 1����� 1@��
��
�
�3



�� � �����
�����
�
������ ��

��� '�����8�� � ���� �� 
�
��
, +� Q1 
����� � Q1 = (b�
1 ξ)2 + · · · + (b�

n1
ξ)2 �
��
��

Q1 = (c�
1 ξ)2 + · · ·+ (c�

mξ)2 ����'�� ��3 ��� 
���� �
��
����� ��
���� � c1, . . . , cm �����
��1
��8�
�� ����� �
�
��
��� � b1, . . . , bn1 ����� ��1
��8�
��
�3 &
 ��  �!''� ����������� �
bn1+1, . . . , bn ����� ��1
��8�
�� ������
3 ����� c�

i bj = 0, ���'��

(�� (c�
i ξ, b�

j ξ) = c�
i Ibj = c�

i bj = 0,

+� 1 ≤ i ≤ m, n1 + 1 ≤ j ≤ n3 � (c�
1 ξ, . . . , c�

mξ)� �� � (b�
n1+1ξ, . . . , b�

n ξ)� �
������

��@��
�
� �������� 
�������I��, ����
����������, �
+�� 1@��
��
�
�3 ����� *�3 c�

1 ξ ��
Q2 1@��
��
�3 �
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�� �� ������	�� �����������

�''
� � �������'�� � 
��+
�;)�(+���;���
�� ��������� � �� 
����
�
� �������������3

���� �� ��������� ����������� 
�������

� ��!�������8��� 9�$�K�Q�$������ �1 K�����(
> ���*���6��
4 �0'' ����� 
�
���
� ���+��! �����
� 
��
���
�;
3 ���*�
�� 1
����
�4 ������ 
������!� �� 1@��
��
�
�,
�������� 
�������'!� ����������, �� � ��!������ 
��
���
�" �
+�� � ������ �0�0�� (���
� ���+��! �����
��'
� �
+
� 
������3

� �
�
����
�7'' ��!�������8���'
�� ��6
�� �� 
����
�
� ����������� 9��
;R�� (�����;
C(�����, ��
;R�� ���� �>3 ��� 
��
��
� ��
 ��. ��

�&�
� �
�� 0���
+�����8����3 %��
� �
�
�C��
���
� 
�
6����
�� ����
������� 
��;
�� �����*'�� ������� 
�+
��
���, � ����
;
��� ������
��
� +������ �����*+������� �
�
��@�3 ���6����� �
�����@�� 
�� 1���!�I���
�8����
�
�3

6���� ����
��
23 6���� -3 6���� <3 6����
A3/. --3B/ 2=3<?
A3/B 2?3<- 2D3<D
=3?D 223./ 2?3BB
223?- 2=3A- 2/3-B
223?D 2A3DB 2B3D.
2-32- -D3-. 2A3<-
223<D 2/3-.
/3D. 2=3?-
2/3/B

'�!� ����	� F���� �@�0�'0�� 6���� +������ ������ A, D, ���3 B �8����
�� �������3 ��� ��

��
��
� ����
�� � 6����, ����� < ������
 ���3 � 6���� +������� � �I���
���
���
�
� �
1
��� ��'����� � �����3 K������� � �
� ��� � � ��+�*�������, +��� � 6����� ����� �������
�I���
���
���
� ���+��! �����
� 
��
���
�" �

� �
�C��
���
�4 Yij, j = 1, . . . , ni, i = 1, . . . , p3 Yij �� i;
6�� �����
� ����
�� j;
6��
�
�C��
���3 �� 
��
� �����
�
� �
� 1
�����
� �
�� ������ ����I ������ ���
���3



��
���@� +���,

Yij ∼ N (µ + αi, σ
2) �� Yij;� 1@��
��
�
�3

����+
��, +���
p∑

i=1

niαi = 0 �
��
�3 K
�
��@� '
 �� n = n1 + · · · + np �
�0����3

K������� � �

H0 : α1 = α2 = · · · = αp = 0

� ��+�*������ �
��
�@�����" H0 ��� �
�
���, +��� �� 
��
� �����
��
� ���(� +�����3



�� �� ������
�� ����������� ��

� ��
��
�;1��� �� ���*��� �� n 6' Yij �����
�0���
�
 
�����

p∑
i=1

ni∑
j=1

Y 2
ij =

p∑
i=1

ni∑
j=1

(
Yij − Y··

)2
+ nY

2

··

����'��, �+�� Y·· = 1
n

p∑
i=1

ni∑
j=1

Yij � ���&�� ���	�3 � 1
��� 1
�'�����'�� ��
�
*�� 
���

�����
�0���
� �
�0���
 Q, 
��
�
���
 ���&�� 
�� ���/�����3 Q 
�����

Q = Q1 + Q2 =

p∑
i=1

ni∑
j=1

(
Yi· − Y··

)2
+

p∑
i=1

ni∑
j=1

(
Yij − Yi·

)2

����'��, �+�� Yi· = 1
ni

ni∑
j=1

Yij �� i;
6�� ��

� ���	�	3

Q1 ���� � ��

��� �/�/��
 ���������, Q2 *
6�� � ��

����
 (��0�
 ���������
9���� � ���
��
� +�'��>3 H0;�� ����� �
��@� 
�, +� Q1 �I�������� ���� Q2;+0� ��*
��3

���� � "	� ���#�� ��������� ��
�������� �� ���������

�������������

� *�!'� ������ ������� +������� � � 
��+
�;)�(+���;���
��3 �
�����@� � �
��
� 1
�;
'������4

p∑
i=1

ni∑
j=1

Y 2
ij = Q1 + Q2 + nY

2

·· .

'�!� �������� Q1 �
���$����  �&� p− 1� Q2 �
���$����  �&� n− p� nY
2

·· �
���$����
 �&� 1(

��������	
� � ���6����� � 1����� ��� ���
���� 1����� �����
�0���
�
����� ������

������8���3 �
�6
��@� � ���
���� 1����� 
��@��+��!��

Y11, . . . , Y1n1 , Y21, . . . , Y2n2 , . . . , Yp1, . . . , Ypnp

��
����3
����� � Q1;+
� ������! 
��@��+��!� �����E� 9���!��'�� �� ������ ����� �0�@� 1−1;
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n1
− 1
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. . . 1
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− 1

n
− 1

n
. . . − 1

n
. . . − 1

n
. . . − 1
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− 1
n

. . . − 1
n

1
n2
− 1

n
. . . 1
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− 1

n
. . . − 1

n
. . . − 1

n
333
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− 1
n

. . . − 1
n

− 1
n

. . . − 1
n

. . . 1
np
− 1

n
. . . 1
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− 1

n

 .

��
� p ��� ���
������ 1@���, +��� n1, . . . , np 
��@��+��!���� '
���@� . ���'����+��!3 &

�� 
���� ������� �� 0���
� �0''�'��, p − 1 ���
������ 1@��
��
� ���� ��* ��3 ���� Q1

���'�6���� 1��� p − 13
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� Q2;'
� ��
�
*�� ���
���� 1����� 
��@��+��!� �����

D =

D1

3 3 3
Dp


�����E�� ��������, �
��'
� � 6����������� 1
��� D1, . . . , Dp '�������� �8�@�� 
�
�
�
.;�3 � Di '����4

Di =


1 − 1

ni
− 1

ni
. . . − 1

ni− 1
ni

1 − 1
ni

. . . − 1
ni

333
333

− 1
ni

− 1
ni

. . . 1 − 1
ni

 .

�� �� ni × ni ���
�7 �����E ni − 1 ����I3 S������ �������� 0���
�
 ., 6
 �� 
��� ����
�� 0���
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 �����'', ���� F[p−1,n−p;α],
���� � �
�1
�
�� ���'�6���� 1��I (
������ F ;
������� ��'������'!� ���
�
�
�� 91
���> ���;
��� � �����3

'�'� ����	� 9� -323 *��6� 1���������3>
� 9����8�!��*
�> 
�
6����� � ��!���1
�'���! ��'�� �����������4

�$�K� ��'�

�� �(
 61 �� %� 

)�� ��� - <2<3A 2?D3A. 2<3<2
����� -. -<?3B 223=A
����� -- ?/A3=

�� 
��
�
���
� �����������3 �� �(
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J∑
j=1

Yij ,

Q1 =
I∑
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��� �� 
������
��� ��6
����� ���6�����+�� +����;
�!�� '
(�@�+
��@� �� ���
�
��
� αi, βj *������
�
�
�, �@�0�'���
��
� �� � σ2;
�3

%��
� Q3/σ
2 ���6�� (
������ χ2;
�������I (I − 1)(J − 1) ���'�6���� 1�����, 
���� σ2

����8������ '
(����
 S3 = Q3

(I−1)(J−1)
3

:
���+��!, +��� Yi· − Yi′· ∼ N
(
αi − αi′ ,

2σ2

J

)
3 ����� 1 − α �
�'8�+��!���� �����7

���C6
�(�� ���
����� � �� αi − αi′ �@�0�'����
 9�+�� i �= i′>

9<3<> (Yi· − Yi′·) ∓ t[(I−1)(J−1); α/2]

√
2S3/J,

�+�� t[(I−1)(J−1); α/2] �� 1 − α �����7 �����6��� t;*�!'� ������ � �����
3
����''�, Yi· − Y·· 
��������

9<3/> N
(

αi,
σ2

J

(
1 − 1

I

))
,

�+�� � ��!��� � ���
���� 1���� 
��@��+��!� ���*��� �6!6���3 ����� �� 1 − α �����7
���C6
�(�� ���
����� � αi;�
 � �0�
��
��4

(Yi· − Y··) ∓ t[(I−1)(J−1); α/2]

√
S3

J

(
1 − 1

I

)
.

F�����! �!6�� �6+�� �� ���C6
�(�� ���
����� ��� � βj −βj′ �@�0�'����
 �� βj;�
3

��&� "�������


!� � 9<32>;'
� ��
�
*�� �
�������
��
� 6
C����� � �� ���''� I� �
�������
�
�3
µ̃ = µ+α+β, α̃i = αi−α, β̃j = βj −β, �+�� α = (1/I)

∑I
i=1 αi, β = (1/J)

∑J
j=1 βj 3

#��� � '
, +��� ���6
� i �� j 
�
��� µ̃ + α̃i + β̃j = µ + αi + βj , �� � ˜;��� �
�0�� I�
�
�������
� ��� �
��
�8��� � 9<3-> 1
����
�
�
�"

'� #��� � '
, +��� � 9<32> ��6
�� 
�
���, +� i �= i′,

Yi· − Yi′· ∼ N
(

αi − αi′ ,
2σ2

J

)
,

1
σ2 Q3 ∼ χ2

(I−1)(J−1), �� 
�
� 
������!� 1@��
��
�
�3 �� ���*��� ������� � 9<3<>;��"

)� ������� � 9<3/>;
�"



�� �  �����
�� ����������� �� �
��
� ��	 �������"#�$�����$�� ��

�� � ������	�� ����������� �� ����	��
��

������� �!�����!��

!��� � ������

%��� � �����
�
� ����������� �
�������� ��'' 
�
��� �
�����@�4 �����
�
� ������������
���
���(�!���3

#
��
� �� A ����
���
� I ������
, � B ����
���
� J ������
3 ���
�
��@� 1
� �
+��
���, +��� � ��� ����
�� 
��@��
� +����� 9���
���(�!��> �� '
1�������+���� � �8����
�

�
6������3 ���
���� (
�������� �0'' �
�C��
���� �
�� ���
��@��3

K��
��@�� � ��� ����
�� IJ ����I ��������'���(�!����� ���6
������
 K(> 1)
����I 1@��
��
� �
�C��
����3 � (
��������� 
��
��� ����I �
�C��
���
� �8����
�� 
�;
�
�6
���� �
�� �
�*� ����� ����
������
� �
�
��@�3 K;� ��������������� ���6;
� �3

O
�0��
 Yijk �� (i, j);
6�� (
���'�� � k;�6�� �
�C��
��� 
�
6������ (k = 1, . . . , K)3
�
��@� 1
�, +���

9/32> Yijk = µ + αi + βj + γij + εijk,

�+�� �� εijk ���
��
� +�'�� 1@��
��
�, . �� σ2 *������
�7 �������� 
�������I ���!��8�7����
������!�3

� ���������6! +�*������
�4

HA : α1 = α2 = · · · = αI = 0 ,

HB : β1 = β2 = · · · = βJ = 0 ,

HAB : ���6
� i = 1, 2, . . . , I, j = 1, 2, . . . , J;�
 γij = 0 .

���� ���(� A;+����, ���(� B;+����, ���
��
 ���(� AB ���
���(�!3
����+
��, +��� � *������
�
� ��
���8���� � �0�
��
�� 1
����
�
�
�4

9/3->

I∑
i=1

αi = 0,

J∑
j=1

βj = 0,

I∑
i=1

γij = 0 (j = 1, 2, . . . , J),
J∑

j=1

γij = 0 (i = 1, 2, . . . , I).

����� �� ���
�
��
� µ, αi, βj �� γij *������
�
� �
����
'' �����
�
� '
(����
� ��
���''� ����I��3 9� ��E�� � ���
��+��6 '
(����
� ��  ����
�
�3>

9/3<>

µ̂ = Y··· ,

α̂i = Yi·· − Y··· ,

β̂j = Y·j· − Y··· ,

γ̂ij = Yij· − Yi·· − Y·j· + Y··· ,



�� �� ��	
���
������

�+��

Y··· =
1

IJK

I∑
i=1

J∑
j=1

K∑
k=1

Yijk ,

Yi·· =
1

JK

J∑
j=1

K∑
k=1

Yijk ,

Y·j· =
1

IK

I∑
i=1

K∑
k=1

Yijk ,

Yij· =
1

K

K∑
k=1

Yijk

���6
� i = 1, 2, . . . , I, j = 1, 2, . . . , J 
�
���3 ��
� �
�8������
� �6+��� � �
� �
��
�
�����
�0���
� 1
�'�������3 �� 
�
���� �� ���''� �����
�0���
�
�
� 1�� ���* ���3

Q1 = JK

I∑
i=1

(Yi·· − Y···)2,

Q2 = IK

J∑
j=1

(Y·j· − Y···)2,

Q3 = K
I∑

i=1

J∑
j=1

(Yij· − Yi·· − Y·j· + Y···)2,

Q4 =

I∑
i=1

J∑
j=1

K∑
k=1

(Yijk − Yij·)2,

Q =
I∑

i=1

J∑
j=1

K∑
k=1

(Yijk − Y···)2.

Q1 �� 
��� ����
�� ������
� �0�0��� 
������
�
�, Q2 � ����6�� ����
�� ������
� �0�0���

������
�
�, Q3 *
6�� � ��� ����
�� 
��@��
� +������ 8��� �
3 Q4 � ���
��
� +�'�� ����;
�
�0���
�
, �8� Q � �
��
� �����
�0���
�3 � �
��
� �����
�0���
� 1
�'������4

Q = Q1 + Q2 + Q3 + Q4.

�� � 1��� �� � �����
�
� ��������� . ����� ����� ����3

!��� � "	� ���#�� ��������� ��
��������

� 
��+
�;)�(+���;���
� ����������� ��
�*�����'!� *������ ��'' �� ���''� 1
�'��;
���'!� ����6 ���3

9/3/>
I∑

i=1

J∑
j=1

K∑
k=1

Y 2
ijk = Q1 + Q2 + Q3 + Q4 + IJK Y

2

··· .



�� �  �����
�� ����������� �� �
��
� ��	 �������"#�$�����$�� ��

Q1 ���'�6���� 1��� I −1, Q2 ���'�6���� 1��� J −1, Q3 ���'�6���� 1��� (I −1)(J −1),
Q4 ���'�6���� 1��� IJ(K − 1), IJK Y

2

··· ���'�6���� 1��� *
6�� 13
+�!� �������� �
 26(34 ��$��� ����.�

9�> Q1� Q2� Q3 .� Q4  ,��������& .� χ2*����
�����&� $� ���  ���.����,� ���������&5
9'> 1

σ2 Q4 ���$�� �������� χ2*����
���� IJ(K − 1) �
���$����  �&&��5
9(> 1

σ2 Q1 �&&�� .� ���& �&&�� �������� χ2
I−1*����
����� -� HA ������,�5

96> 1
σ2 Q2 �&&�� .� ���& �&&�� �������� χ2

J−1*����
����� -� HB ������,�5
9
> 1

σ2 Q3 �&&�� .� ���& �&&�� �������� χ2
(I−1)(J−1)*����
����� -� HAB ������,�(

��������	
� � 9/3/> 
�����8���'�� � 
��+
�;)�(+���;���
� 1
����
�
 �
��
�@�, +���
� �
������ 0���
�
 (I − 1) + (J − 1) + (I − 1)(J − 1) + IJ(K − 1) + 1 = IJK3 ����� �
���6����� � 1����� 1@��
��
�
� �� χ2;
�������I��3 � �
�;(
���������� *������
�
�
�
I�� ��*� �, +��� � ���+��! �����
�
� '
8�� � � ���6����� � 1�����'�3 �

!��� � ��$���
������$ ��������

� 1
���
� ���*��� � �������
��� 9���
���(�!� C��
�
�'
 �
��> ��6
�� ��!���1
�'���!
��'������ �� ���''�3

� �������� ��	
	����� 
������� 
������� F �
������	� ����� �������� ���	��� ����	�����

A ������! I − 1 Q1 S1 = Q1

I−1 S1/S4

B ������! J − 1 Q2 S2 = Q2

J−1 S2/S4

AB �����	�%�� (I − 1)(J − 1) Q3 S3 = Q3

(I−1)(J−1) S3/S4

$������� ��
	 IJ(K − 1) Q4 S4 = Q4

IJ(K−1)

��� �� IJK − 1 Q

��!���1
�'���! ��'����� �������
��� 9���
���(�!� C��
�
�'
 �
��> ��6
���


� �@�0�'0�� � ��+�*������
� F ;*�!'���  ����I�� +���� � ����
, ���� �� 
���� ��;
6
��
����3 �������� � HAB +�*������� �������� �3

+�!� ����	� ���1��
 ��� 9Fe2+ �� Fe3+> ��
��
�
�'�� ���! ��@�@����� �������� �3 %��6;
��� ��� 1����'!� 2.3-, 23- �� .3< ������!��� ���(
����(�!� �6 ��, 2B;2B 
��
6�
�3

� �
��� �����E 
��� < �����*� � Fe2+ +���� �@�0�'0�� �
�������
 
�
��� � ��
�;
�
�
�'
� ����6� ���������� ������ � ����� � 2B;2B 
��
6 
�
���3 F�����! � �����E
����''� < �����*�3 � < �@�0�'0�� ���;�
������� �� �����*+����3 � ��� - �������
 �
���+����3 K��@� 2B �� ������������3 �
+�� 
�� ��
��
��I������� 
��
�6
���7�� ���3

%���� �
� ���
��@� 
� ����
� �� �$�K� 
������� 
�
��
 �� �6������W %
�� �
�������� �������� 
�������I��� �
�� �
���
 ������ ��!������" K������ �� 
�*���� �
��!��������
�
� �� � ������, +��� (
�������� �
�� 2B;2B 
�
�7 ����� ��!����� ������

�����
�3 S����
�
� �������� � +��������� � +������0�'���� ���� 
������ � ������,
 ����8�� � V� ��;*�*8� �� 
��
�
����, �
+�� � ���������� �
� ��� 1
��3 ��!'������ ��
� ����� ������1�����������" � �������� � ���
� �
�
���� ��� ���� +����� ���6 � �����;
�����'��, ���6 � ��!����� 
��
�������'
�3 9%
��
��
��@�, +��� ����������� 2B 
�
�7



�� �� ��	
���
������

�����'!� �
� ������ �
+
� �!� �
���
���3 � �!6��
�� �
�����
4 � ����������� �+�*���;
H���;*�!'����, � ��!����� ����������� 
�� :����
��;*�!'���� �
��
�
 
��
�������3>



2+ 

3+

2.3- 23- .3< 2.3- 23- .3<
.3=2 -3-. -3-? -3-. /3./ -3=2
23DD -3A< <3A< -3DA /32D ?3/<
-3.2 <3.B ?3.B <3?/ /3/- D3<B
-32D <3/A ?3B- <3=? /3A< D3<B
-3/- /322 ?3B/ <3B< ?3/A B3<-
-3/- /3A? D3BA /3.B ?3== A3./
-3?D ?32D B3?. /3-= ?3BD A3?D
-3D. ?3?/ B3?D /3?< D3-B 2.3.2
<3<2 ?3DB A3// ?3<- D3A= 2.3.B
<3D/ D3-? 2.3?- D32B =3.D 2.3D-
<3=/ =3-? 2<3/D D3-- =3=B 2<3B.
<3=/ =3A. 2<3?= D3<< A3-< 2?3AA
/3<A B3B? 2/3?D D3A= A3</ 2=3A.
/3?. 223AD 2D3/2 D3A= A3A2 2B3-?
?3.= 2?3?/ 2D3AD =3?- 2<3/D 2A3<-
?3-D 2?3BA 2=3?D B3<D 2B3/ 2A3B=
B32? 2B3< --3B- 223D? -<3BA -23D.
B3-/ 2B3?A -A32< 2-3/? -D3<A --3-?

�� �6���� �������� ���� �� ���''� ������1
�'���! ��'������� ��*� �4

�$�K� ��'�

�� �(
 �� 61 %� 

)�� ��� 2?3?B - =3=A --3?-
��R� -3.=A 2 -3.=A D3.2
���
��(���� .3B.BA - .3/./? 23D-
����� <?3<A 2.- .3</D
����� ?<3=D 2.=

� �������� HA, HB, HAB � ��+�*������
� 
�
��� � �
�1
�
�� F ;*�!'�� *����� �
�;
�
6
����
 � �0�
��
���
� ��*� �4 7.9 ∗ 10−9, 0.015, 0.3143 ��
� p �����
� ���*��� 
�
�
�� �
���, +��� HA 4 �
�
	 �	��������	 , HB 4 �
�
	 	������	, 6
 
� �
�� 1���6��, +���
HAB 4 �
�
	 
������

�3

%���������3 �� �����*�'�� � �
��
� �����
�0���
� 1
�'������ ��� �����*+������,
���+������, ���
���(�!�� �� ���
��
� +�'���3 � 61 ����� 
�
� ���'�6���� 1��� ���3 %�
����� �� �� 61 +����6���3 
 *
6�� � �
�1
�
�� +���� %� �������
� �� � ���
��
�
+�'� %� �������
� +����6���3 F� �����
���� +���� � ���
��
� +�'�+�� ��*
�� �I�
����, ����� 
��
��@� �� ���� +������ ��������! � ��+�*�������3 � (p1, p2, p3) = (7.9 ∗
10−9, 0.015, 0.314) �
���� i;
6�� ���*��
��
 ����� �� ������� �6��, +��� � � ��+�*������
���� ����� 
�
��� ����
� ���!��8�7����
� �
+
��
 � (
������ F ;
�������I ���!��8�7����



�� �  �����
�� ����������� �� �
��
� ��	 �������"#�$�����$�� ��

������! �
����'' ����� ����, ���� � ��*��� 
 �����3 P�� ��(�� pi 
�
��� 
��
��@� �
� ��+�*�������3 � pi ������� F ;
������� ���*��� +������� � �
�4 �� 
 �����*'�� ����
������������ ���6�� F ;
�������I��, � �
�1
�
�� � ��+�*������ 1
�������� 
�
��� (
�����;
���, +� ������� � � ��+�*������ �
� ����, ����� �
� (
��������3 9%
��
��
��@�, +���
� ��� 1
��� ��!�������8���'
�� *��6�'�� � %��#�: �� � ��� 1 ���� 
�
6����
 �
��
�
�
�
�
��
�
��3> �

!�!� "�������


!� � 9/32>;'
� ��
�
*�� �
�������
��
� 6
C����� � �� ���''� I� �
�������
�
�3
µ̃ = µ + α + β + γ··, α̃i = αi − α + γi· − γ ··, β̃j = βj − β + γ·j − γ··, γ̃ij =

γij −γi·−γ ·j +γ·· , �+�� α = (1/I)
∑I

i=1 αi, β = (1/J)
∑J

j=1 βj , γi· = (1/J)
∑J

j=1 γij,

γ·j = (1/I)
∑I

i=1 γij, γ·· = (1/IJ)
∑I

i=1

∑J
j=1 γij3 #��� � '
, +��� ���6
� i �� j 
�
���

µ̃ + α̃i + β̃j + γ̃ij = µ + αi + βj + γij, �� � ˜;��� �
�0�� I� �
�������
� ��� �
��
�8��� �
9/3-> 1
����
�
�
�"

'� � 9/32> ��6
��'
� � �
����
'' �����
�
� '
(����, ���� � +�'� �����
�0���
�
�������������� �

9/3?>
I∑

i=1

J∑
j=1

K∑
k=1

(
Yijk − (µ + αi + βj + γij)

)2

1@������ ����� ����� �
�+���������� �
�
��� µ, αi, βj �� γij ��
����3 #��� � '
,
+��� � ����� � � 9/3<> ��*�
�'
�� �����
���� �6!6��" �++
� +������� � � ����� �
6
����������� �0����� �
�+����������3 � ��*��� ���
���� 
��
��
��
�6��
� �
���6������
�
��@� C��
�
�'
 9/3->;��3
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�������������
���� �� � 
������� ����



��



�� ��� 
��
�����	�
������ �� � ��
��
�� "�%���

�� � �����	�� ��"���

���� � �	����	� ������ ��%�'�	$��

9232> Y = Xβ + ε

� ���
���� ��6
��, �+��
Y n;6��
���!� �
�C��
��� �
����,
X n × p ���
�7, �
� ���
��
�, �
�C��
�� �����E 9� ��������! ������!� �����E�>,
β p;6��
���!� ���
�
��
� *������
�,
ε �
� �
�C��
�+
�� n;6��
���!� ���
��
� �
���� 9+�'�>3

L�����'�� n � p, 
�� ��@���� 
�
��� 1
� 1��� � �
���3 � ���������'�� p � ��������!
������!� �����, n *
6�� � �
�C��
�� �'�
�� ��� �����, �
+�� n � p ����
�7 1
����
�3

!�!� ����	�

���� � ���
	���� ��������
 �$������

F� Eε = 0 �� ��� ε = σ2I 9σ2 ���
�
��
� *������
�>, ����� ���������	���
���

�
���� '
����@��3 ����� � ����
��(( 
�� ����� (�#����� 9�#�Q��6����� #
���
�T ��
�> ��������� � β;��4 
� �
�� β̂3

#
��
� �
+�� β̂ �� ‖Y − Xβ‖2;
� �����������! �
����3 9��� ‖ . ‖ � ����� R
n;'
�3>

O
�0��
 PF �� X �����*�� ����� �
�
���� F ������
 ���! �
���
�
� �
�8����3

!�!� �������� !� β̂ ���&����� �.�"
���� �����.� ⇐⇒
Xβ̂ = PF Y .

'� β̂ ���&����� �.�"
���� �����.� ⇐⇒ β̂ �


X�Y = X�Xβ

��������"����� �����$���(

��������	
� !� Y ;+�� �� X �����*�� ����� �
�
���� ����� �
�� Xβ 
�
�
 �
��
�
��0�
�
''W X**
� �� Y �
�@�
�
, ���� PFY 3 P�� Xβ̂ = PF Y 3

'� ‖Y − Xβ‖2 ����� � �
����
''W F� Y − Xβ �**
� �� Y ����������� ���*;
�
�
��
�
 �� F ������
 ��������!��3 ���� Y − Xβ �
���
�
� X ���6
� �����*���,
�
+��

X�Y − X�Xβ = 0,

������

X�Xβ̂ = X�Y . �

!�!� ���&�� ���� X�X ���
����+��! ⇐⇒ ����X = p 3
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��������	
� !� F� X�X ���
����+��!, ����� X�Xa = 0 
�
��� a=03 ����� Xa ��
(��� ����� �
+
� 0, +� a = 03 ���� X �����*����� (��� . 
��@��+��!���� ���! ���
����
���'���(�!� 
��
���
� 0;���, �
+�� X ������ 
��
��� �� �����*�� ��������, ������ p;�
�3

'� F� ����X = p, ����� Xa �= 0 �
�����
�
� a �= 0 
�
���J 8�� a�X�Xa =
‖Xa‖2 �= 03 K������ +� X�X �
� �
��
 ���
����+��!, ����� � �
�
 ��*�
�� ���6����� �
1���� 0 �
��
 �����
�� a �= 0 �
������3 �

!�'� ���&�� ���� F� ����X = p, �����

β̂ = (X�X)−1X�Y .

�� �**
� � ������
��
��
��
� 
������
��, +� (X�X) ���
����+��!3 �

!�'� �������� !��"�� Eε = 0� ��� ε = σ2I .� ����X = p( )&&�� β̂ = (X�X)−1X�Y

���
#������ �����.�� β*��&� ������� ��� β̂ = σ2(X�X)−1(
7� ε ∼ Nn(0, σ2I)� �&&�� β̂ ∼ Np(β, σ2(X�X)−1)(

��������	
� F� ����X = p, ����� (X�X) ���
����+��!3 �����

Eβ̂ = (X�X)−1X�
EY = β,

+���
� EY = Xβ3 %�������

��� (β̂) = (X�X)−1X�( ��� (Y ))X(X�X)−1 = σ2(X�X)−1,

 ������ ��� (Y ) = ��� (ε) = σ2I3
F� ε ∼ Nn(0, σ2I), ����� Y ∼ Nn(Xβ, σ2I), 8�� β̂ Y ����� Y ���
���� 1@������


Y ���� �� �������� 
�������I3 �

���� � (�����)��
�������� ����������*�� ���
��

� +������
6������ � 
�
�'
� β̂ = (X�X)−1X�Y �
����
'' �����
�
� '
(���� �
���&�(( �

���
� ������	��	
 (�#���� 9:#S�Q:
�� #��
�� S�'���
6 ���������>3
��� ���6�� �� � 1	����2	���$������ �
�
����
�7'' ������3

!�!� ������ 31	����2	���$�4 7� Eε = 0� ��� ε = σ2I .� ����X = p� �&&�� β̂ =
(X�X)−1X�Y � β �����.��� ��&��� ������� �������� ���
#������ �����.��(

��������	
� β̂ �� Y �
���� ���
���� 1@������
 9(X�X)−1X� �����E���� ���! ��������>,
���� β̂ ���
���� '
(����3 ����''� Eβ̂ = β, �
+�� ����8������3

#
��
� CY � β;��� 
�� ����� ���
���� ����8������ '
(����
3 :
 �
�� ���� ��, +���
CY ��!��������E� M�����''N β̂ ��!��������E����, ���� ��� (CY ) − ��� (β̂) *����8�
��
��6
C���3 CY ����8����������'!�

β = ECY = CE(Xβ + ε) = CXβ ∀β .
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�
+�� CX = I3

��� (CY ) = E(CY − β)(CY − β)� =

= E(CY − β̂ + β̂ − β)(CY − β̂ + β̂ − β)� =

= E(CY − β̂)(CY − β̂)� + E(CY − β̂)(β̂ − β)� + E(β̂ − β)(CY − β̂)�

+ E(β̂ − β)(β̂ − β)� ≥ E(β̂ − β)(β̂ − β)� = ��� (β̂),

+���
�

E(CY − β̂)(CY − β̂)� *����8� ��
��6
C���, ��

E(CY − β̂)(β̂ − β)� = 0

9
��  �!''�� ���'' �
�� ���� �>3 P�� ��� (CY ) ≥ ��� (β̂), ���� β̂ � �
���'' 9�
�
����
'' ��!���I>3


���
��@� �
�, +���

CY − β̂= CX︸︷︷︸
I

β + Cε − (X�X)−1X�Xβ − (X�X)−1X�ε

=[C − (X�X)−1X�]ε

�� β̂ − β = (X�X)−1X�ε, �+�����

E(CY −β̂)(β̂−β)�=[C − (X�X)−1X�] E(εε�)︸ ︷︷ ︸
σ2I

X(X�X)−1 =

=σ2
[
CX︸︷︷︸

I

(X�X)−1− (X�X)−1X�X︸ ︷︷ ︸
I

(X�X)−1
]
=0. �

��!� )���	+�
 ���������'���� 	������

!�!� ��"
�#
�� �� A n × n;
� �����E ���	��
������� 

$���� �� �� A− n × n;
�
�����E, �
���


AA−A = A . �
!�)� ���&�� ���� F� A ���
����+��!, ����� A− 
�����
��7
� ���
���, �� A− = A−13

S������ 
���� AA−1A = A, ���� A−1 ��
���8��A− 6
C�8(�!���3 %������� �� AA−A =
A 
��
��
�
� ��''�!� �� '���!� �� �
��������� A−1;��
�, A− = A−1;
� ��*� �3 �
!�)� �������� 7� A �
�������&'�� �&&�� �.��
�& ���������#���� �����
�(

��������	
� #
��
�
� λ1, . . . , λk �� A �
� ��� � ����������
�, u1, . . . , un *
6�� �� A
������
��������� ����������� �
�6��
�
3 #
��
� U �� u1, . . . , un;
� ���������! ����;
������� �����E,

Λ− =


λ−1

1
3 3 3

λ−1
k 0

3 3 3
0

 , Λ =


λ1

3 3 3
λk

0
3 3 3

0


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n × n;
� 6��������� �����E��3 ����� A− = UΛ−U� �
��
�8�� � 1
����
�
�
�4

AA−A = (UΛU�)(UΛ−U�)(UΛU�) = UΛU� = A. �

!�+� ���&�� ���� ���
 � �*
(����� A−;�� A−AA− = A− �� (A−)� = A− �� �
��
�@�3
�

!�+� �������� X(X�X)−X� ����������� �����&��� �
 X ��
�����&����� ����� �������� F
���.���(

��������	
� F� w⊥F , ����� X�w = 0, 8�� X(X�X)−X�w = 03
�++��, +��� X(X�X)−X� �� F ;'
�� �
������� 0���� �'� �����, 
��� '
�����, +���

X(X�X)−X�X = X3 �� ������� ����, �
�� �
�����
�
� v �
���� v = v1 +Xv2 ����'�
8�+��!, �+�� v1⊥F 3 �����

v�X(X�X)−X�X = v�
1 X(X�X)−X�X + v�

2 X�X(X�X)−X�X =

= 0 + v�
2 (X�X) = v�X. �

��&� � (�����)��
�������� ��������� ���
��

!�5� ���&�� ���� β̂ = (X�X)−X�Y ���6��3 F���
� 
���� �� Xβ̂ = PF Y 
��
��
�
�
��
�@�3 S������ X(X�X)−X� �**
� � PF �
�8����
� 
��
���3 �

!�6� ���&�� ���� F� X �����*�
������ ���
������ 1@���
�, ����� ��� ���6� �, +���
� ��������! ������!� �0�0�� ����

�	�
��� ��� 1
��3 ����� Y ���� +� ����X < p Y
� β �
������� (� *�� '������� ����6�������, ���
��
 ���� ���
���� 1@������
�� � 6� �
'
(�@���, � �
��
� β;� �
�3 �

!�'� ��"
�#
�� � β *������
� c�β ���
���� 1@�������� 9���
������ �� ����8������ �>
(�#�0����.
�� �
�
��@�, +� ��� Y ;��� ����� b�Y ���
���� 1@������
, �
���


Eb�Y = c�β ∀β ∈ R
p.

9��� c ∈ R
p, b ∈ R

n3> ���
���� �0��6
� ��� �� ���6� �, +��� c� '
(�@�+
��3 �

������ ����X = p, ����� � �
��
� β �
���� '
(�@�+
��3
�� 
����
�'
� ��, +��� β̂ � �
���'' ���
���� ����8������ '
(����, ��� �
�
��
��
, +���

β̂ ��!��������E� � �
����
'' � ���
���� ����8������ '
(����
� ��!��������E�� �0�0��3 9�
�
�6
���� � MD1 ≥ D2 ⇐⇒ D1−D2 *����8� ��
��6
C���N ���*��� ��
�
��
��@�3> �
+��
c�β̂ ��!���� � �
����
'' � c�β ���
���� ����8������ '
(����
� ��!����� �0�0�� (c ∈ R

p)3
�� � ���� � V� ��;%�����;���
� ����������'' ������������ �� � ����
�
3

!�'� ������ 31	����2	���$�4 !� c�β ����,�-��� ⇐⇒ c = X�b �������" b ∈ R
n*

��(

'� � c�β ���$�� �������� ���
#������ b�Y �����.�.�� PFb = b∗� �-�� b∗ 2� b*���
���  ,���4 �����$� ��&���( ��� PF = X(X�X)−X� �
 X ��
����� �����.�� ���� ���#�.�(

)� b∗�Y �$�� � ���&����� �
����� �������� ���
#������ �����.��(

+� b∗�Y = c�β̂(
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��������	
� !� #
��
� c�β '
(�@�+
��3 ����� c�β = E(b�Y ) �����
�� b;�
3 ����
c�β = b�Xβ ∀β3 �
+�� c� = b�X3

%
�1��68���, c�β = b�Xβ '
(�@�+
�� b�Y ;���3

'� #
��
� b�Y � c�β ���
���� ����8������ '
(����
3 ����� �
�����@� �

b = (b − PF b) + PFb

����������� 1
�'������3 ��� Y ;��� ��''�!� �������� �� ���+��! �����
� ���
4

Eb�Y = (b − PF b)�Xβ + E(PF b)�Y .

%��
� b − PF b �� Xβ 
������� �
���
�
� �� Eb�Y = c�β, 8��

c�β = Eb∗�Y

�6!6��, �+�� b∗ = PF b3
#
��
� ���� b�

1 Y � c�β 
�� ����� ���
���� ����8������ '
(����
3 �����

0 = c�β − c�β = Eb∗�Y − Eb�
1 Y =

(
b∗� − b�

1

)
Xβ ∀β.

���� b∗ − b1 �
���
�
� X �����*����3 �
+�� b1 = b∗ + (b1 − b∗) � �
���
�
� 1
�'�����,
���� b∗ � b1;�
� �� �
�@�
�
3

)� �� 
����
�'
� ��*� �, +��� Eb∗�Y = c�β, ���� b∗�Y ���
���� ����8������
'
(����3 �� ������������� ���*���4

D
2b�Y = σ2b�b = σ2

[
b∗�b∗ + (b − b∗)�(b − b∗)

] ≥ σ2b∗�b∗ = D
2(b∗�Y ).

�
+�� b∗�Y ��!���� � �
����
''3

+� %��
� Xβ̂ = PFY , 8�� Y − Xβ̂ �
���
�
� X �����*�� ���
���
3 K������ b∗

'
��
 ��� 
''
� �� �����'
�3 �
+�� b∗�(Y − Xβ̂) = 03 ����

b∗�Y = b∗�Xβ̂ = c�β̂,

�
�� c = X�b �� X�b = X�b∗, ����� b∗ � b �
�@�
�
 X �����*�� ���
���
3 �
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"���� �������� �����
 ��

�� � �����	�� ��"��� ��	����� �������� ������

���� )�+	�����	
��	 ��� �������

'�!� ������ 7� ε ∼ Nn(0, σ2I)� �&&�� β ��/��'�*��&���-��$ �����.�� β̂� σ2 ��/��'�*
��&���-��$ �����.�� ��$�� 1

n
‖Y − Xβ̂‖2(

��������	
� %��
� Y ∼ Nn(Xβ, σ2I), 8�� Y �7�7���1@������
4

f(y) = (2π)−n/2(σ2)−n/2 exp

{
− 1

2σ2
‖y − Xβ‖2

}
.

���
� β ��
����� ��E�� �� �� 
E*��
��'
� ���� ��1
�
���, �
�
�
�
�
� ‖Y − Xβ‖2

����� �� +
���� ���, ���� β̂;'��3
� σ2 ��
����� ����� ��+��

0 =
∂ log f

∂σ2
= −n

2

1

σ2
+

1

2

1

(σ2)2
‖Y − Xβ̂‖2.

���
� σ̂2 = 1
n
‖Y − Xβ̂‖23 �

'�!� ���&�� ���� σ̂2 = 1
n
‖Y −Xβ̂‖2 � '
(�@�� β 
�
��� ��	�	��� 
�� ���/�����,

9���Q�
��6 �� � � �1 �T ��
�> ���� ‖Y − Xβ̂‖2 n;
6 ����
3 �
'�!� ����	� !��"�� V ��" s*$����
��� ���.��� ���� ��������� ���#�.� �����/�� η ∼
Nn(m, I)( )&&�� V η .� (I − V )η  ,��������& .� �������� ����
�����&( +������

‖V (η − m)‖2 ∼ χ2
s.

��������	
� $������

(
V η

(I − V )η

)
=

(
V

I − V

)
η, ���� �������� 
�������I �
����

���
���� ������1��������, �
+�� �������� 
�������I3 %�������

(�� (V η, (I − V )η) = V I(I − V ) = 0,

���� ����
����������, �
+�� 1@��
��
�
�3
#
��
� e1, . . . , es �� s;6��
���!� ���
�@�� ����������� '�����3 ��� 
����8��@� ��

����������� '������4 e1, . . . , en3 ��
� �
�������� 1������ � �� U ����������� �����E'�3
����� V = UΛU�, �+�� Λ ����� 6��������� �����E, �
���
� 
��� s 1����!� 
�
�
 2, �
�0''� .3

‖V (η − m)‖2 = ‖UΛU�(η − m)‖2 = ‖UΛξ‖2 = ξ�ΛU�UΛξ,

�+�� ξ ∼ Nn(0, I)3 &
 U�U = I �� ΛΛ = Λ, �
+��

‖V (η − m)‖2 = ξ2
1 + · · ·+ ξ2

s ∼ χ2
s. �

'�'� ������ !��"�� Y ∼ Nn(Xβ, σ2I)� r = ����X( )&&��
1
σ2‖Y − Xβ̂‖2 ∼ χ2

n−r�
‖Y −X bβ‖2

n−r
� σ2 �����.��� ���
#������ �����.��(
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��������	
� �����
��
�@��, +��� F �� X �����*�
������ ����� ��1
��8�
�� �����, PF

*
6�� �� F ;�
 �
���
�
� �
�8���3
Y −Xβ̂ = Y −PF Y = (I−PF )Y 3 %��
� I−PF �� F ����������� ���*�
�
��
���


���! �
���
�
� �
�8���, 8�� E(Y − Xβ̂) = (I − PF )EY = (I − PF )Xβ = 03 �
+��
Y − Xβ̂ ∼ Nn(0, σ2(I − PF ))3

� 6� �, +��� (I−PF )(Y −EY ) = (I−PF )Y = Y −Xβ̂3 �� -323 �
��� ����� 
�
�
�0�@� � �
�
��� +���������
���
� 1/σ2;��
�
�
 χ2

n−r 
�������I, 8��
1
σ2‖Y −Xβ̂‖2 ∼ χ2

n−r3

%��
� Eχ2
n−r = n − r, 
���� E

‖Y −X bβ‖2

n−r
= σ23 �

'�'� ���&�� ���� Y − Xβ̂ �� Xβ̂ 1@��
��
�
�3
S������ Y − Xβ̂ = (I − PF )Y �� Xβ̂ = PFY 3 �

���� ,	-����	��	������� � �	����	� ���������

#
��
� Y = Xβ + ε, �+�� ε ∼ Nn(0, σ2I)3 � � ��+�*������4

H0 : Bβ = 0,

�+�� � B �����E ���
�� �� ����� '
(�@�+
��
�3

'�)� ���&�� ���� #
��
� �� X �����*�� ����� �
�
���� ����� F 3 #
��
�
� B �����
'
(�@�+
��
�3 ����� ���
��� ����� F0 ���
�
 F ;�
�, +��� Bβ = 0 ⇐⇒ Xβ ∈ F03

���
� '�����8������ �
��
��
��@�, +��� B ����� '
(�@�+
��
� ⇐⇒ B = B∗X
�����
�� B∗ �����E��3 ����� Bβ = 0 ⇐⇒ B∗Xβ = 0 ⇐⇒ Xβ � B∗ �����E
� ���
��'
� ���, ���� Xβ ∈ F0, �+�� F0 � B∗|F � ���
�
3 �
'�)� ������ !��"��

S2
B = min

β : Bβ=0
‖Y − Xβ‖2, S2

e = min
β

‖Y − Xβ‖2

� -��� �.�"
��
��
��  ���.������ �������  ���.��� �.�&,�� �����'��( !��"�� ����X = r�
���� (F − F0) = q( 2��� F − F0 �
 F0 ���.���& �
 F ���.��� ���� ����������� &�����*
������.� ���
��(4

)&&��
S2

B − S2
e

q
:

Se

n − r
∼ Fq,n−r

�&&�� .� ���& �&&��� -� H0 ���
(

��������	
� �
�����@� ��

Y − PF0Y = (Y − PF Y ) + (PFY − PF0Y )

1
�'������3 %��
� F0 ⊆ F , 8�� PFY − PF0Y '
��
 ��� F ;'
�3 Y − PF Y �������
�
���
�
� F ;�
3 �
+�� � 1
��� 1
�'����� ����������� 1
�'�����3 �����

‖Y − PF0Y ‖2 = ‖Y − PFY ‖2 + ‖PFY − PF0Y ‖2.

%�������

S2
B = min

β : Bβ=0
‖Y − Xβ‖2 = min

β : Xβ∈F0

‖Y − Xβ‖2 = ‖Y − PF0Y ‖2



�� � ��
��
�� "�%��� 
�
"���� �������� �����
 ��

��

S2
e = min

β
‖Y − Xβ‖2 = ‖Y − PF Y ‖2 = ‖(I − PF )Y ‖2.

P��
S2

B − S2
e = ‖PFY − PF0Y ‖2 = ‖(PF − PF0)Y ‖2.

�
+�� �� S2
B −S2

e ;'
� ��
�
*�� ���
���� ��1
�
��� (PF −PF0)Y , �� S2
e ;'
� ��
�
*�� *
6��

(I−PF )Y 3 ��
� 
��@��
�
� �������� 
�������I��3 ����
����������, �
�� (I−PF )(PF −
PF0) = 03 ����� 1@��
��
�
�3

E(I − PF )Y = (I − PF )Xβ = 0

���6�� �
��
�@�3 K������

E(PF − PF0)Y = PF Xβ − PF0Xβ = Xβ − PF0Xβ = 0 ⇐⇒ Bβ = 0,

���
� 
�  �!''� Xβ ∈ F0;��� 
������
��3
�
+�� 1

σ2 S
2
e ∼ χ2

n−r 9�+�� r �� X ������>, +���
� I − PF (n − r);6��
���!� �����'

�
�8�3

F� H0 : Bβ = 0 �
��
�@�, ����� 1
σ2 (S2

B − S2
e ) ∼ χ2

q , +���
� PF − PF0 q;6��
���!�
�����'
 �
�8�3 �

���� �� ��������� ����������� �	�� �-��	��	� �	����	� ������

� ���
���� ��6
�� ���*��� 
����
��@� �� 
����
�
� ����������� 
�
������3

'�!� ����	� #
��
� Yij = ai + εij , j = 1, . . . , ni, i = 1, . . . , p, �+�� εij ∼ N (0, σ2) �� �
εij ������!� 1@��
��
�
�3 �����

Y = Xa + ε

� ��6
��, �+��

Y =



Y11
333

Y1n1

Y21
333

Y2n2

333
Ypnp


, X =



1 0 . . . 0
333

333
333

1 0 . . . 0
0 1 . . . 0
333

333
333

0 1 . . . 0
333

333
0 1


, ε =



ε11
333

ε1n1

ε21
333

ε2n2

333
εpnp


, a =

a1
333
ap

 .

��� Y �� ε n;6��
���!� �
������, X *
6�� n×p ���
�7 �����E, �+�� n = n1 + · · ·+np3
�

H : a1 = a2 = · · · = ap

� ��+�*������ ����� �� (��� ����� �
��
�@�, +� Ba = 0, �+��

B =

(
1 0 −1

3 3 3
333

0 1 −1

)



�� ��� 
��
�����	�
������ �� � ��
��
�� "�%���

(p − 1) × p �8* �I �����E3 B ����� '
(�@�+
��
�, +���
� B = B∗X, �+��

B∗ =

1 0 . . . . . . 0 −1
0 . . . 0 1 0 . . . 0 −1
333

 .

S2
e = min

a
‖Y − Xa‖2 = min

a

p∑
i=1

ni∑
j=1

(Yij − ai)
2.

���
� ����� �+
��
 96
���������� �
�+��������> âi = Yi·, ���� �� i;
6�� �����
� �
��
�����3 P�� S2

e =
∑
i

∑
j

(Yij−Yi·)23 �� �**
� � Q2 +�'� �����
�0���
�3 ���
� ���'�6����

1��� � -3-3 ���
� ���*��� n − p, ���
� X ������ p3

S2
B = min

a : Ba=0

∑
i

∑
j

(Yij − ai)
2.

% ���*������������ 6����� ��3 λ1, . . . , λp � � ���*���������3 � #������
;1@������4∑
i

∑
j

(Yij − ai)
2 +

p−1∑
i=1

λi(ai − ap) �� ai = ap, i = 1, . . . , p − 1.

ai ��
���� 6
������� � 1
��� 1@�������4

−2
∑

j

(Yij − ai) + λi = 0, i = 1, . . . , p − 1,

��

−2
∑

j

(Ypj − ap) −
p−1∑
i=1

λi = 0.

��
�
� 0���
�6��4
p−1∑
i=1

ni∑
j=1

(Yij − ai) +

np∑
j=1

(Ypj − ap) = 0.



�+�������� �� ai = ap (i = 1, . . . , p−1) 1
����
��4 ap = 1
n

∑
i

∑
j

Yij = Y·· , ���� ���6
�

ai '
(����
 ���� �� Y·· �
��
� �����3 �
+��

S2
B =

∑
i

∑
j

(Yij − Y··)2 = Q

�
��
� �����
�0���
�3

S2
B − S2

e =
∑

i

∑
j

(Yij − Y··)2 −
∑

i

∑
j

(Yij − Yi·)2 =

= Q − Q2 = Q1 =
∑

i

∑
j

(Yi· − Y··)2.

���� S2
B − S2

e = Q1, � �����
� �0�0��� 
������� ���� �����
�0���
�3
B∗|F � ���
�
 �� ������ ����6������I �
������'!� ���, ��� 
��6��
���!�3 F �� X

�����*�� ����� �
�
���� �����3 ����� F p;6��
���!�3 P�� ���� (F − F0) = p − 13
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�� � ���
���� ��6
�� �
�8������
�3 � -3<3
���
� ���*��� �6!6! F ;*�!'�  ������ �
��, ���� � ����''�� � 
��(+
�;)�(+���;���
�
���*��� ��*��� F ;*�!'�3 �
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������� � ������ � �
� �������� 1
����
�
�
�, ��
��
� 
�
��� � ���;)�����;
��
�;
����
����
� '�����8���� 1��� �3

#
��
� � Θ *������
���� ��8�� +����� R
k;'��3 #
��
� ϑ = (ϑ1, . . . , ϑk)

� ∈ Θ3
#
��
� X ����� 9��������� ���
�
�'
�>3
#
��
� f(x, ϑ) � ����� �7�7���1@������
 9��������� ���
�
�'
�, ���� 
�� ν 6������!
�������
 ����
>3

�
��@� 1
�, +��� �� f(x, ϑ) 1@������ ϑ ��
���� �����
� 6�G
�
�(���+��!, �� ��∫
f(x, ϑ)dν(x) = 1

��1
�
���'
� � ϑ ��
����� 
��� �� ����6�� 6
������� �� �� ���
������ ����
�6�
 10�(�
���;
+
��3

����� ∫
∂f(x, ϑ)

∂ϑi
dν(x) = 0, i = 1, . . . , k,9232>

�� ∫
∂2f(x, ϑ)

∂ϑi∂ϑj
dν(x) = 0, i, j = 1, . . . , k.923->

�
��@� 1
�, +���

923<> E

(
∂ log f(X, ϑ)

∂ϑi

)2

< ∞, i = 1, . . . , k.

�����

923/> Iij(ϑ) = E

[
∂ log f(X, ϑ)

∂ϑi

,
∂ log f(X, ϑ)

∂ϑj

]
���
� ���6
� i, j = 1, . . . , k 
�
���3

!�!� ��"
�#
�� ��

I(ϑ) =
(
Iij(ϑ)

)k

i,j=1

�����E�� ,
�����%��� 

%����#
�� ����
�
	� �
�
��@�3
�� f(x, ϑ) 1@������� �
���
�����%0��$�
 
�� +8�� �, �� ln f(x, ϑ) 1@�������

*
6�� ����
���
�����%0��$�
 
��3 �

923?>
∂ log f(X, ϑ)

∂ϑ
=

(
∂ log f(X, ϑ)

∂ϑ1

, . . . ,
∂ log f(X, ϑ)

∂ϑk

)�

���!��8�7���� �
����������! �� I�3 �#��� $�����3 �



�� � 
����
�"�
����� ����
�(���
��� ��

� 1
��� 1
����
�
� 
�
��� � �(��
 �
���� ���+��! �����
 03 S������

923D> E
∂ log f(X, ϑ)

∂ϑ
=

∫
1

f(x, ϑ)

∂f(x, ϑ)

∂ϑ
f(x, ϑ)dν(x) = 0

�� 9232> 1
����
� �����3 9$
 ���
���@� ��
� 
�0�, +��� � ���+��! ����� E �
�
  ��� �� X
���
��
� �
������� ��
�
*
� �� ��� ���� 1@������'
�, ������ ������� ��

∫
���
������

���@��, ����� *
6�� �� x ������! ��
�
*
�  �����''�� � 1@������'
�3 �
�����
�
�
�
��  �!''� 
�
�'
� �� f �7�7���1@�������
� ������� �� �
��, ��
���� � ν ������ ��
����
���
��������3>

!�!� ���&�� ���� �� 
����'�� ������� �6!6��, +��� �� I(ϑ) 
��+
�;1��
 ��1����(�!�
�����E �**
� � �(��
 �
���� ��!������E�4

923=> I(ϑ) = ���

(
∂ log f(X, ϑ)

∂ϑ

)
.

%������� � 
��+
�;1��
 ��1����(�!� �����E � �(��
 �
���� �
�8������
� 
����� ��

923B> Iij(ϑ) = −E

[
∂2 log f(X, ϑ)

∂ϑi∂ϑj

]
��
���� ��3 K��!'��, 923-> 1
�+������������

E
∂2 log f(X, ϑ)

∂ϑi∂ϑj

= E
∂

∂ϑj

(
1

f
,

∂f

∂ϑi

)
= E

[
1

f

∂2f

∂ϑi∂ϑj

− 1

f 2

∂f

∂ϑi

∂f

∂ϑj

]
=

=

∫
∂2f(x, ϑ)

∂ϑi∂ϑj
dν(x) − E

1

f

∂f

∂ϑi
· 1

f

∂f

∂ϑj
= 0 − Iij(ϑ). �


������� � � ���;)�����;
��
�����
���� 1
����
�
��
� 1
����������3



��
���@�, +��� I(ϑ) ���
����+��!3
#
��
� g : Θ → R

r 6�G
�
�(���+��! 1@������3
#
��
� � T r;6��
���!� ����������� � g(ϑ) ����8������ '
(����
4

923A>
∫

T (x)f(x, ϑ)dν(x) = g(ϑ).

�
��@� 1
�, +��� 
''
� �� 
��
��
�'
� � ϑ ��
����� 6�G
�
�(����� �� �� ���
������ ���;
�
�6�
 1
�(�
���+
��4

9232.>
∫

T (x)
∂f(x, ϑ)

∂ϑi

dν(x) =
∂g(ϑ)

∂ϑi

, i = 1, . . . , k.

���� � /���#������
��� ������0�������

� ���;)�����;1��
 
��
�����
���� ��� ���8���, +��� Z � �
� �������� 1
����
�
� 
�
���
Z � ����8������ '
(���� ��!���� �
� �
+
� ��������
� ��(��3 ��� 9�'����I�> ���! +����
�6+��! � 
��+
�;1��
 ��1����(�! �
�8������
�3

!�!� ����� 3�	��-�	������ �
�.���
���4� �  ���� ���'��������  ���.����& ����.�

92322> ��� (T ) ≥ GI−1(ϑ)G� ,



�� ���� � "�&�"'"��� ������% "	%���


�-�� G =
(

∂g(ϑ)
∂ϑ

)
(

��������	
� �
�����@� �

9232->

(
T1(X), . . . , Tr(X),

∂ log f(X, ϑ)

∂ϑ1
, . . . ,

∂ log f(X, ϑ)

∂ϑk

)
(r + k) 6��
���!� ����������� ������*��������3 ���
� ��!��������E� �� 
����
� ��
����

9232<>

(
V G
G� I(ϑ)

)
,

�+�� T ��!��������E� V , G =
(

∂g(ϑ)
∂ϑ

)
*
6�� r × k �8* �I �����E3 %��
� �� 9232<>

��!��������E, 8�� 6
�
�������� �
� �
���8�3
�����

0 ≤ det

(
E −GI−1(ϑ)

0 I−1(ϑ)

)
det

(
V G

G� I(ϑ)

)
=

= det

(
V − GI−1(ϑ)G� 0

I−1(ϑ)G� E

)
= det(V − GI−1(ϑ)G�),

�+�� E �� . �������� ���
�7 
�����;, ���
��
 � �������E�� �
�0�3
�� � ���6�����
�
� ���� ����� ��, +� (� *�� � T �
���� ��+��� ����6��������

�
�����@�3 ����� � (V − GI−1(ϑ)G�) �����E ���6
�, � 1����!�� �����
���� ��� 
�+
;
��
��
6� ���������E���� �
� �
���8� � 6
�
��������3 �
+�� (V −GI−1(ϑ)G�) *����8�
��
��6
C���3 ���
� '
���� � � ���
��3 �

!�!� %��	�	�� #
��
� ξ1, . . . , ξn ����� N (µ, σ2);'��3 � *������
� ���6��
���!�4 ϑ =
(µ, σ2)�3 #��� � '
 �� ���''�����3

9�> � 
��+
�;1��
 ��1����(�!� �����E4

9232/> I(ϑ) =

( n
σ2 0

0 n
2σ4

)
, I−1(ϑ) =

(
σ2

n
0

0 2σ4

n

)
.

9'> ξ̄ �� s∗2n ����8������ '
(���� (µ, σ2);�
3 � '
(���� ��!��������E�4

9232?> D
2

(
ξ̄

s∗2n

)
=

(
σ2

n
0

0 2σ4

n−1

)
.

9(> :�� � ���;)�����;1��
 ���! +���� �
� ��
��� 
�, s∗2n ����� � �
����
'' ��!���I
����8������ '
(���� σ2;�
3

������	
� 9(> #
��
� t ����8������ '
(���� σ2;�
4 Et = σ23 #
��
� u = t − s∗2n ,
�+����� t = u − s∗2n 3

K������ t �� s∗2n ���+��! �����
 σ2, 8�� u ���+��! �����
 .3 &
 � ����� 
��@��
�
�7�7���1@������
 ���*���4

9232D> 0 = Eu =

∫
u(x) · f(x)dx =

∫
u(x)

1

(σ22π)
n
2

e−
P

(xi−µ)2

2σ2 dx ,



�� � 
����
�"�
����� ����
�(���
��� ��

�+�� x = (x1 . . . , xn)�3 µ ��
���� 6
������� �����
� 9�0�'
� 9232D>;�� ��� 
����
�
+��������>4

9232=>
∫ (∑

(xi − µ)
)2

︸ ︷︷ ︸
(n(x̄ − µ))2

u(x)

(
1

σ
√

2π

)n

e−
P

(xi−µ)2

2σ2 dx = 0.

σ2 ��
���� 6
������� 9232D>;�� 9�0�'
� 9232D>;�� ��� 
����
� +��������>4

9232B>
∫ ∑

(xi − µ)2u(x)
1

(2π)n/2
e−

P
(xi−µ)2

2σ2 dx = 0.

K������ � ��
��
�;1��� �� ��
���� (n− 1)s∗2n =
∑

(xi −µ)2 −n(x̄−µ)2, 8�� �� 
���� ���

��
��
� ����� u �� s∗2n ����
��������3 �����

D
2(t) = D

2(u) + D
2(s∗2n ) ≥ D

2(s∗2n ). �
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'�!� ��"
�#
�� #
��
� X ����� 9��������� ���
�
�'
�>, x � ����� �
�����(�!, Θ �
*������
����3 #
��
� ν ������ � ��������
�, �
��@� 1
�, +��� � ����� 
�������� �';
����I� 1�������� ν;�
 ����
, �
�0��
 �(x, ϑ) � �7�7���1@�������3
�(x, ϑ);� Z ���� ϑ ∈ Θ 1@�������� �
�����
 Z �
���
�����%0��$�
 
�� �
�
��@�3 �

'�'� ��"
�#
�� � ϑ *������
� �	�
�����
���
���� (�#�����
�� ��� � ϑ̂ = ϑ̂(x)
������������ �
�
��@�, �
���


9-32> �(x, ϑ̂) = sup
ϑ∈Θ

�(x, ϑ). �

'�!� ���&�� ���� F� ���
��� T (x) 
������
� �����������, ����� � ��E�� �;���
��+��6
'
(���� 
��
� 1@������
3 K��!'��, � $
����;
��+
�;1��
 1��������(�!� ���
� ��
����

�(x, ϑ) = h(x)g(T (x), ϑ),

8�� � ��E�� � +
�� (��� T (x);��� 1@��3
� 1
��� ���8��� �
�1��68���� �
� ����, � ��E�� �;���
��+��6 '
(���� �
� ���6��


������
� �����������3 �

'�)� ��"
�#
�� � ���
��+��6;1@������ �������� ��� ����
���
�����%0��$�
 
�� �
�
�;
�@�4

9-3-> L(x, ϑ) = log �(x, ϑ). �

F� Θ ⊆ R
k ��8�� +����� �� �(x, ϑ) ϑ ��
���� 6�G
�
�(���+��!, ����� L(x, ϑ) ��E�;

� � +
���� � ϑ ��
����� *��(����� 6
�������� 
��@��
�3

'�+� ��"
�#
�� �

9-3<>
∂L(x, ϑ)

∂ϑi
= 0, i = 1, . . . , k,


��
��
�
�
� �
���
������� �
�����
�� �
�
��@�3 �

'�'� ���&�� ���� F� x 1@��
��
� ���!��8�@���� ������!�'!� ���! �
����, ����� � �����;
�
��+��6;1@������4

9-3/> Ln = L(x, ϑ) =
n∑

i=1

log fi(xi, ϑ),

�+�� fi(xi, ϑ) �� x �
���� i;
6�� ����6���������� � �7�7���1@������
3 �

���� � ��+	�����	
��	 ��� �$����� 
������	

'�)� ���&�� ���� #
+
����
�, +��� � ���
��+��6;1@������ �
� �������� 1
�@����, ����
�
� ���
��� ��E�� �;���
��+��6 '
(����3 �



�� � "�&�"'"��� ������% #������ ��

'�+� ���&�� ���� #
+
����
�, +��� � ���
��+��6;
��
��
�
��
� ��� ����� ��0�
, �
��
�
� ��������
�� '
(����
 � *������
��
�3 ��� �� ���''� *��6� � �����3 �

'�!� ����	� #
��
� X1, . . . , Xn ����� N (ϑ, c2ϑ2) 
�������'!�, �+�� c �= 0 ���
��, ϑ
���
�
��
� *������
� (ϑ �= 0)3 ����� � ������
��+��6 1@������4

Ln(ϑ) = n log
1√

2π(cϑ)
−

n∑
i=1

(xi − ϑ)2

2c2ϑ2
.

∂Ln(ϑ)

∂ϑ
= −nϑ−1 +

1

2c2

n∑
i=1

[
2(xi − ϑ)ϑ−2 + (xi − ϑ)22ϑ−3

]
.

∂Ln(ϑ)

∂ϑ
= 0

���*���

nc2ϑ2 + ϑ
∑n

i=1
xi −

∑n

i=1
x2

i = 0.

���
�

ϑ̂12 =
−∑n

i=1 Xi ±
√(∑n

i=1 Xi

)2
+ 4nc2

∑n
i=1 X2

i

2nc2

� �
���6��3
��
� ������������ +����������� n → ∞ 
���� � ���� ������ �0�����
 ���*���

+������� � �
�4 ∑n
i=1 Xi

n
→ ϑ ��

∑n
i=1 X2

i

n
→ ϑ2(c2 + 1).

P�� ϑ̂1 → ϑ �� ϑ̂2 → −ϑ
(
1 + 1

c2

)
3

�
+�� ϑ1 � ���
��+��6;
��
��
��
� ���������
�� ��0�
, ϑ2 *
6�� �
� ��������
��
��0�
3 �

'�5� ���&�� ���� #
+
����
�, +��� � ��E�� �;���
��+��6 '
(���� �
� ��������
��3
���
  ��� �� ���''� *��6�3 �

'�'� ����	� #
��
�
�

(
Y1

Y1

)
, . . . ,

(
Xn

Yn

)
1@��
��
�, ���6��
���!� ���
��
� �
������,(

Xi

Yi

)
∼ N

((
µi

µi

)
,

(
σ2 0
0 σ2

))
, i = 1, . . . , n.

����� � ���
��+��6;1@������4
n∏

i=1

1√
2π σ

e−
(xi−µi)

2

2σ2
1√
2π σ

e−
(yi−µi)

2

2σ2 .



�� ���� � "�&�"'"��� ������% "	%���


� ������
��+��6;1@������4

L = −2n log(
√

2πσ) − 1

2σ2

n∑
i=1

[
(xi − µi)

2 + (yi − µi)
2
]
.

∂L

∂µi

=
1

σ2
[(xi − µi) + (yi − µi)] ,

�+����� µ̂i = Xi+Yi

2
3

∂L

2σ2
= −n(σ2)−1 + (σ2)−21

2

n∑
i=1

[
(xi − µi)

2 + (yi − µi)
2
]
.

���
�

σ̂2 =
1

2n

n∑
i=1

[
(Xi − µ̂i)

2 + (Yi − µ̂i)
2
]

=
1

n

n∑
i=1

(
Xi − Yi

2

)2

.

��� E
(

Xi−Yi

2

)2
= σ2

2
, �+����� � ���� ������ �0�����
 ���
���'
� σ̂ → σ2

2
(n → ∞),

���� � '
(���� �
� ��������
��3
%
��
��
��@�, +��� � *��6�'�� � *������
�
� ����� ����
�
�+
� ����, +� n → ∞3

�
'�6� ���&�� ���� #
+
����
�, +��� � ���
��+��6;
��
��
� ��0�
� �
� � ���
��+��6;
1@������ ��E�� �+
���� �������������3 �

���� 1�� 
���	������	� �����

�� ���''���'�� 1
��
���@�, +��� � �����
�
�
� 1@��
��
�
� �� ������ 
�������I��3
�
��@� 1
�, +��� �@�0�'0�� *������
� �����
�+
� �@�0�'0�� 
��������� ���������3
O
�0��
 Pϑ, ���
��
 Eϑ � ϑ *������
��
� �
�1
�
�� 
��������, ���
��
 ���+��! �����
�3
O
�0��
 f(x, ϑ) 
�� �����
�
� �7�7���1@��������3 O
�0��
 ϑ∗ � *������
� ���!6� �������3
'�!� ������ !��"�� Θ ⊆ R .� ���"�� f(x, ϑ) $������-��� ϑ �
����� ��" ��"�� ���������'*
���� ���" ϑ∗*�� ��������

�( )&&�� � ��&���-��$*��"�������& �.��
�& ��"�� �"
&�� ���"
n → ∞ ����.� ϑ∗*-�
 ���� 2Pϑ∗ �
�����4 1 �����
#�0�.����(

��������	
� �
��@� 1
�, +��� log f(x, ϑ) 6
�����+��! � (ϑ∗− δ, ϑ∗ + δ) ���
����� ���3
���
�
�
�, +��� log t ≤ t − 13 ��� t +
����
 f(x,ϑ∗∓δ)

f(x,ϑ∗)
;�� +
��
��
�8��
4∫

f(x, ϑ∗) log
f(x, ϑ∗ − δ)

f(x, ϑ∗)
dν(x) < 0,

∫
f(x, ϑ∗) log

f(x, ϑ∗ + δ)

f(x, ϑ∗)
dν(x) < 0.

����

Eϑ∗ log f(X, ϑ∗ − δ) < Eϑ∗ log f(X, ϑ∗),

Eϑ∗ log f(X, ϑ∗ + δ) < Eϑ∗ log f(X, ϑ∗).



�� � "�&�"'"��� ������% #������ ��

%��
� Ln 1@��
��
�, ������ 
�������I ���!��8�7���� ������!� 0���
�
, ����

Ln(X1, . . . , Xn, ϑ) =

n∑
i=1

log f(Xi, ϑ),

8�� � ���� ������ �0�����
 ��������+��!3 �
+��

lim
n→∞

1

n
Ln(X1, . . . , Xn, ϑ∗ + δ) < lim

n→∞
1

n
Ln(X1, . . . , Xn, ϑ∗),

lim
n→∞

1

n
Ln(X1, . . . , Xn, ϑ

∗ − δ) < lim
n→∞

1

n
Ln(X1, . . . , Xn, ϑ∗)

Pϑ∗ ��
���� 2 ���!��8�7����
�3
����� 
��� ���� n;�
 Ln �����
 � (ϑ∗ − δ, ϑ∗ + δ) ���
����� � ���*������'�� ���
'',

���� ϑ∗;'��3 P�� Ln;�
� ��� � (ϑ∗ − δ, ϑ∗ + δ);'�� ������� ��E�� ��3 %��
� δ > 0
�
�����
�
�, 8�� ��� 2 ���!��8�7����
� ����
��
�� ��0�3 �

��!� � ��+	�����	
��	 ��� ������� ���	�-���	
���  ���	���	
��

�������������

#
��
� ϑ ∈ Θ ⊆ R
k � *������
�, ϑ∗ *
6�� 
��
� � ���!6� �����
3 �� X1, . . . , Xn

1@��
��
�, ������ 
�������I �����
�
�
� 
�
��� � ������
��+��6 1@������ �� 1@��
��
�,
������ 
�������I ����� 0���
�
4

9-3?> Ln(ϑ) =

n∑
i=1

log f(Xi, ϑ),

�+�� f � �0�0� �7�7���1@������3 P�� � �(��
 �
����4

9-3D>
∂Ln(ϑ)

∂ϑ
=

n∑
i=1

∂ log f(Xi, ϑ)

∂ϑ
.

��� �� 0���
�6��6!� 1@��
��
�, ������ 
�������I, 0 ���+��! �����7 �� I(ϑ) ��!��������EI
������!�3 9��� I(ϑ) 
��
��
� �
�C��
��� 
�
��� � 
��+
�;1��
 ��1����(�!� �����E3> �
�0�*���� +����
������� ���
� ����� n → ∞ 
�
���

9-3=>
1√
n

∂Ln(ϑ)

∂ϑ
=⇒ b, �+�� b ∼ Nk(0, I(ϑ)).

%������� � ������
��+��6;1@������ ����6�� 6
��������'!� ���! �����E4

9-3B>
∂2Ln(ϑ)

∂ϑ∂ϑ
=

n∑
i=1

∂2 log f(Xi, ϑ)

∂ϑ∂ϑ
.

�� 1@��
��
�, −I(ϑ) ���+��! �����7 �����'!� ���, 8�� � ���� ������ �0�����
 �����4

9-3A>
1

n

∂2Ln(ϑ)

∂ϑ∂ϑ
→ −I(ϑ)

���6�
� '�������3
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���@� ������;���'� � ������
��+��6;1@������� � ϑ∗ ����� *������
� �0�@�4

Ln(ϑ) ≈ Ln(ϑ∗) +
1√
n

∂Ln(ϑ∗)�

∂ϑ

√
n(ϑ − ϑ∗)+

+
1

2

√
n(ϑ − ϑ∗)�

[
1

n

∂2Ln(ϑ∗)
∂ϑ∂ϑ

]√
n(ϑ − ϑ∗).9-32.>

� ����6�� ����� 
�+���� �, �� n �� �
√

n �����!���  �!��� 8�� � '
3 �� 
����
� ���*���
� �0�*���� +����
������� ���
� �� � ���� ������ �0�����
 ��������+��!3 ����� 9-32.>
�����*����� ���

9-322> Ln(ϑ) ≈ c + b�y − 1

2
y�I(ϑ∗)y,

�+�� y =
√

n(ϑ − ϑ∗), b ∼ Nk(0, I(ϑ∗)), c = Ln(ϑ∗)3
� 9-322> ��1
�
��� ��� ����'��4

Ln(ϑ) ≈ c +
1

2
b�I−1(ϑ∗)b − 1

2

(
I

1
2 (ϑ∗)y − I− 1

2 (ϑ∗)b
)� (

I
1
2 (ϑ∗)y − I− 1

2 (ϑ∗)b
)

.

��
� ��1
�
��� ��E�� �� �� y = I−1(ϑ∗)b *���'�� ���, � ��E�� � �����
 *
6��
c + 1

2
b�I−1(ϑ∗)b3

�
+�� � ϑ̂n ��E�� �;���
��+��6 '
(�����


9-32->
√

n(ϑ̂n − ϑ∗) ≈ I−1(ϑ∗)Nk(0, I(ϑ∗)) = Nk(0, I−1(ϑ∗)),

���� ϑ̂n 	��
�����
���	
 
�����
� ��������*3 ���
�

9-32<> ϑ̂n − ϑ∗ ≈ Nk(0, (nI(ϑ∗))−1).

�''�� �������, +��� ϑ̂n ��!���� 0;+�� ����, ���+��! �����
 ������� ϑ∗;+��, �
+�� ��
�
�
����
� (�#����3 %������� ϑ̂n 	��
�����
���	
 ����
��(( ������*, +��� � ���;
)�����;
��
�����
���� ����� � 9����8������> '
(����
� ��!������� ���! +����� (nI(ϑ∗))−13
9��� ��+������� �, +��� n 6' 1@��
��
�, ������ 
�������I �
�C��
���+
� ������! 
��+
�;
��1����(�! �� 2 6' �
�C��
���+
� ������!��� n;��
�
�
3>

� ������
��+��6;1@������ �����*��������4

9-32/> max
ϑ

2 [Ln(ϑ) − Ln(ϑ∗)] ≈ b�I−1(ϑ∗)b =
[
I− 1

2 (ϑ∗)b
]� [

I− 1
2 (ϑ∗)b

]
.

%��
� I− 1
2 (ϑ∗)b ∼ Nk(0, E), �
+�� � 1
��� ��1
�
��� +����
�������� χ2

k3 ��
� 1�� ���* ���
� �
���
�������
 	��� ���(	 +����
��������3

'�7� ���&�� ���� � ���
��+��6 
��
��
�'�� �� �6!6�� ������;���1
�����
� �� �����*;
������4

9-32?> 0 =
1√
n

∂Ln(ϑ̂n)

∂ϑ
≈ 1√

n

∂Ln(ϑ∗)
∂ϑ︸ ︷︷ ︸

⇓
Nk(0, I(ϑ∗))

+
1

n

∂2Ln(ϑ∗)
∂ϑ∂ϑ︸ ︷︷ ︸
↓

−I(ϑ∗)

√
n(ϑ̂n − ϑ∗).

�
+�� n → ∞ 
�
���
√

n(ϑ̂n − ϑ∗) ≈ Nk(0, I−1(ϑ∗))3 �



�� � "�&�"'"��� ������% #������ ��

��&� � ��+	�����	
��	 ��� ������� ���	�-���	
���

:
'�����8�� �, +��� 1@��
��
�, X;��
� ������ 
�������I, X1, . . . , Xn �����
�
�
�

�
��� � ���
��+��6;
��
��
��
� ��� ����� ϑ̂n ��0�
, �
�� 
���
� ��������
��, �����*;
����� ��� �������� 
�������I �� �����*����� ��� �
����
'' ��!���I3 #
��
� f(x, ϑ) ��
X �7�7���1@������
 9��������� ���
�
�'
�, �
+�� *�3 f �
�0�+
� 6������� 
�������� ��>3

'�'� ������ +��",&  ��� -��"

�3 Θ ⊆ R
k5

��3 � ϑ∗ ����$� �����.��� ��" ω &
��"�
��.��� �.��
��& �
 f(x, ϑ) �0�0�.� ,���.�"��&
ϑ �
������ -����$�& ��������� $����������5

���3 Eϑ

(
∂

∂ϑj

log f(X, ϑ)

)2

< ∞� j = 1, . . . , k5

�K3 Eϑ
∂

∂ϑj
log f(X, ϑ) = 0� j = 1, . . . , k5

K3 �
 I(ϑ) = (Iij(ϑ))k
i,j=1 8��-��* .�� �� �������� �����/ ��
��#� $�%��� ϑ ∈ ω ����.��

�-��

Iij(ϑ) = Eϑ

(
∂

∂ϑi
log f(X, ϑ)

∂

∂ϑj
log f(X, ϑ)

)
;

K�3 �.��
��& ��"�� Mij�  ,���.�"�&� -��"∣∣∣∣ ∂3

∂ϑi∂ϑj∂ϑ�
log f(x, ϑ)

∣∣∣∣ ≤ Mij�(x),

.� mij� = Eϑ∗Mij�(X) < ∞� i, j, � = 1, . . . , k(

)&&�� � ∂
∂ϑ

Ln(ϑ) = 0 ��&���-��$*��"�������& �.��
�& ��"�� ϑ̂n �"
&�� ���"�� n → ∞
����.�1

9�> ϑ̂n → ϑ∗ 1 �����
#�0�.���� Pϑ∗ �
����� ;

9'>
√

n(ϑ̂n − ϑ∗) ��
�������&'��� Nk(0, I(ϑ∗)−1) ����
���� .

��������	
� 9�> 

���@� Ln(ϑ);� ������;���'� ϑ∗ �0�@�3

1

n
Ln(ϑ) − 1

n
Ln(ϑ∗) =

1

n
A�(ϑ − ϑ∗) +

1

2n
(ϑ − ϑ∗)�B(ϑ − ϑ∗)+

+
1

6n

∑
i

∑
j

∑
�

(ϑi − ϑ∗
i )(ϑj − ϑ∗

j )(ϑ� − ϑ∗
�)

n∑
s=1

γij�(Xs)Mij�(Xs) =

= S1 + S2 + S3,
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�+��

A =
∂

∂ϑ
Ln(ϑ)|ϑ=ϑ∗ =

(
∂Ln(ϑ∗)

∂ϑ1
, . . . ,

∂Ln(ϑ∗)
∂ϑk

)
,

B =
∂2

∂ϑ∂ϑ
Ln(ϑ)|ϑ=ϑ∗ =

(
∂2Ln(ϑ∗)
∂ϑi∂ϑj

)k

i,j=1

,

|γij�(X)| ≤ 1.

%��
�

A =
n∑

i=1

∂

∂ϑ
log f(Xi, ϑ)|ϑ=ϑ∗

��

B =

n∑
i=1

∂2

∂ϑ∂ϑ
log f(Xi, ϑ)|ϑ=ϑ∗ ,

8�� � ���� ������ �0�����
 ����� 1
n
A → 0 �� 1

n
B → −I(ϑ∗) 1 ���!��8�7����
�

Pϑ∗ ��
����3 F�����!��, 1
n

n∑
s=1

Mij�(Xs) → mij� Pϑ∗ ��
���� 1 ���!��8�7����
�3 ����


�
����, �
���
 ���6+���� ����
��
�(�� �
��
�@�, 1 ���!��8�7���73 �� ���''��� 
�
�

�
���� 
�� 
�
�� 
�
������
 �����������3 O
�0��
 c �� I(ϑ∗) �
����
'' ������������3
#
��
� ε>0 �� b=k3

3

∑
i

∑
j

∑
�

mij�3 ���� ���� n;�
 ‖ϑ − ϑ∗‖=ε 
�
��� ����, +���

|S1| < ε3, S2 < − c
4
ε2, |S3| < bε33

P�� � ϑ∗ �0��**���I, ε � ���I �0�' 1
�@�
���

1

n
Ln(ϑ) − 1

n
Ln(ϑ∗) = S1 + S2 + S3 < ε3 − c

4
ε2 + bε3 < 0,

+� ε < c
4(1+b)

3

�
+�� 
�
� � �0�'0� '
�@� ��� ������� ��E�� �� Ln(ϑ);���3 %��
� ε �
�����
�
�
*����8� ����, 
� � ������� ��E�� � � ���
��+�6;
��
��
� ϑ∗;+�� ����
����! ��0�
3
O
�0��
 
�� � ��0�0� ϑ̂n3

9'> 

���@� ������;���'� ∂
∂ϑj

Ln(ϑ̂n);
� ϑ∗ �0�@�4

∂

∂ϑj
Ln(ϑ̂n) − ∂

∂ϑj
Ln(ϑ∗) =

∂2

∂ϑ∂ϑj
Ln(ϑ∗)�(ϑ̂n − ϑ∗)+

+
1

2
(ϑ̂n − ϑ∗)�

∂3

∂ϑ∂ϑ∂ϑj
Ln(ϑ̃)(ϑ̂n − ϑ∗),9-32D>

�+�� ϑ̃ � ϑ∗ �� � ϑ̂n *������� 0���
�0�� ������� 
�
�
3 %��
� ϑ̂n ��E�� � +
��, 8��
∂

∂ϑj
Ln(ϑ̂n) = 03



�� � "�&�"'"��� ������% #������ ��

%��6
� j;�
4[
1

n

∂2

∂ϑ∂ϑj
Ln(ϑ∗)�︸ ︷︷ ︸
↓

−I(ϑ∗)

1 ���!��8�7����
�

+
1

2n
(ϑ̂n − ϑ∗)�

∂3

∂ϑ∂ϑ∂ϑj
Ln(ϑ̃)︸ ︷︷ ︸

↓
0

1 ���!��8�7����
�

]
√

n(ϑ̂n − ϑ∗) =

= − 1√
n

∂

∂ϑj

Ln(ϑ∗)︸ ︷︷ ︸
⇓

Nk(0, I(ϑ∗))


�������'��

.

� 1
��� ����
��
�(��� I�� ���
�6��, +��� �� 
��
��
�
� ���6
� j;�
 ��8���, � ��*���
�
������, ���3 �����E�� ����
������� n → ∞ 
�
���3 �� 
��� ����
��
�(�� � ����
������ �0�����
 ����� ��� 1
��3 � ����6�� � ϑ̂n−ϑ∗ → 0�����, �� �
�� 1

n
∂3

∂ϑ∂ϑ∂ϑj
Ln(ϑ̃)

�������+��! 
�� Z � ���� ������ �0�����
 ����� Z ����
��
�� ����������3 � +����6��
� (
������� +����
������� ���
� �0�
��
�����
3

�
+�� � 1
��� 
��
��
��
�6��
� '�� ��6���� � [ ];'
� −I(ϑ∗)+ �(1) ���, �+�� �(1) 
��
1 ���!��8�7����
� 0;+�� ����! ��������� �
�0�3 ���
� ���
��
 −I−1(ϑ∗) + �(1)3 ���
�
�������� ���6��� ��6���, ��� (��� �
����� ���*��� �6!6��4

√
n(ϑ̂n − ϑ∗) ⇒ Nk(0, I−1(ϑ∗)). �

'�8� ���&�� ���� �� 
���� ���
� 1
����
�
� �
��
�� ϑ̂n ������� ��E�� � 92;+
� ����!
���!��8�7����
�>3 �
'�9� ���&�� ����

9�>
1√
n

[
∂

∂ϑ
Ln(ϑ∗)

]
+

1

n

∂2

∂ϑ∂ϑ
Ln(ϑ∗)

√
n(ϑ̂n − ϑ∗)9-32=>

��

9'>
1√
n

[
∂

∂ϑ
Ln(ϑ∗)

]
− I(ϑ∗)

√
n(ϑ̂n − ϑ∗)9-32B>

����(+������ ��� 0;+�� ����3

��������	
� 9�> 9-32D> ���*���

1√
n

∂

∂ϑj
Ln(ϑ∗) +

1

n

∂2

∂ϑ∂ϑj
Ln(ϑ∗)�

√
n(ϑ̂n − ϑ∗) =

= − 1

2n
(ϑ̂n − ϑ∗)�

∂3

∂ϑ∂ϑ∂ϑj

Ln(ϑ̃)
√

n(ϑ̂n − ϑ∗).
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%��
� ϑ̂n −ϑ∗ → 0 ����(+������ ���,
√

n(ϑ̂n −ϑ∗) 
�������'�� ����
��
��, �
+�� ����;
(+������ ��� ��������, ����''� 1

n
∂3

∂ϑ∂ϑ∂ϑj
Ln(ϑ̃) ����(+������ ��� ��������, 8�� � ��''

��6�� 0;+�� ���� ����(+������ ���3
9'> 9-32D> ���*���

1√
n

∂

∂ϑj
Ln(ϑ∗) − Ij(ϑ

∗)�
√

n(ϑ̂n − ϑ∗) =

= −
[

1

n

∂2

∂ϑ∂ϑj
Ln(ϑ∗)� + Ij(ϑ

∗)�
]√

n(ϑ̂n − ϑ∗)−

− 1

2n
(ϑ̂n − ϑ∗)�

∂3

∂ϑ∂ϑ∂ϑj
Ln(ϑ̃)

√
n(ϑ̂n − ϑ∗).

��� Ij(ϑ
∗)� �� I(ϑ∗) �����E j;
6�� ����
�����3 �� 
����
�+
� ��� C��
�
�'
 �
�� �
���,

+��� � ���� ������ �0�����
 ����� 1
n

∂2

∂ϑ∂ϑj
Ln(ϑ∗) → Ij(ϑ

∗)3 �



�� � �� ������%���
��%�� )
	#� ��

�� � ���������"
�����"�� (	� �

���� � ����	
��	 ����
.������ ���	�-���	
���

�++��, +��� � ���
��+��6;1@������
� ���* �! *�!'�� ��������������� +����
���������
�
���*� �, ��@����@�� ��� �� Ln 1@������ �����*����������� ���
�
���
3 #
��
�
X1, . . . , Xn 91@��
��
�, ������ 
�������I 
�
�
�'�� ���!> �����, Ln(ϑ) � �
�1
�
�� ���;
���
��+��6;1@������, ϑ̂n *
6�� � ���
��+��6;
��
��
� ��������
�� ��0�
3

)�!� ������ � 9(9( �.���  ���.�������& ������,�.�� ����.�� -� n → ∞�

9�>
[
Ln(ϑ̂n) − Ln(ϑ∗)

]
− 1

2
n(ϑ̂n − ϑ∗)�I(ϑ∗)(ϑ̂n − ϑ∗) → 09<32>

�
���-��
��&'��� Pϑ∗ �
�����5

9:> 2
[
Ln(ϑ̂n) − Ln(ϑ∗)

]
=⇒ χ2

k9<3->

����
������ Pϑ∗ �
�����(

��������	
� 9�> 

���@� ������;���'� Ln(ϑ);� � ϑ∗ �0�@�4

Ln(ϑ̂n) − Ln(ϑ∗) =
∂

∂ϑ
Ln(ϑ∗)�(ϑ̂n − ϑ∗)+

+
1

2
(ϑ̂n − ϑ∗)�

∂2

∂ϑ∂ϑ
Ln(ϑ∗)(ϑ̂n − ϑ∗) + γ‖ϑ̂n − ϑ∗‖3

n∑
s=1

G(Xs),

�+�� G(x) =
∑
i,j,�

Mij�(x) �� |γ| ≤ 1
6
3 �''��

Ln(ϑ̂n) − Ln(ϑ∗) =
√

n(ϑ̂n − ϑ∗)�I(ϑ∗)
√

n(ϑ̂n − ϑ∗)+

+

[
1√
n

∂

∂ϑ
Ln(ϑ∗)� −√

n(ϑ̂n − ϑ∗)�I(ϑ∗)
]√

n(ϑ̂n − ϑ∗)+

+
1

2

√
n(ϑ̂n − ϑ∗)�

[
1

n

∂2

∂ϑ∂ϑ
Ln(ϑ∗) + I(ϑ∗)

]√
n(ϑ̂n − ϑ∗)−

− 1

2

√
n(ϑ̂n − ϑ∗)�I(ϑ∗)

√
n(ϑ̂n − ϑ∗)+

+
[
γ‖ϑ̂n − ϑ∗‖

] [√
n ‖ϑ̂n − ϑ∗‖

] [√
n ‖ϑ̂n − ϑ∗‖

] [ 1

n

n∑
s=1

G(Xs)

]
.

� -3A3 �
��
����� 9'> ����
 ����� � ����6�� ��� ����(+������ ��� .;+�� ����3 �
+����6�� ���  ����
�
� �
��
����� 9�>Z9'> ����
, ��������

√
n(ϑ̂n−ϑ∗) ����(+������ �

������������ ����� .;+�� ���� ����(+������ ���3 �� 0�06�� ��� �� .;+�� ����, ���
�

��
� �� 
��� ����
���
 0;+�� ���� 2 ���!��8�7����
�, �8� � �0�
��
�� +���� ����
���

����(+������ ��� ��������3

�� 
��� �� � �
��
6�� ��� 0���
�
 *
6�� �**
� �� 9�>;'�� ��
�
*�� �
�������3
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9:> %��
� √
n(ϑ̂n − ϑ∗) =⇒ Nk(0, I(ϑ∗)−1),

8�� 9�>;'!� �0�
��
��� 9:>3 �

���� 1������* ���� 	-����	� �	��������

�
H0 : ϑ = ϑ0


����
�7 � ��+�*������
H1 : ϑ �= ϑ0

���
����8� +�*�������
� ��
�'
�� �
���
�����
 � $
����;�
�����;1��
, �� �3 H��6�!� ��
� )3 �3 ����!� �������! �������������� ���
��
��@�3 ��
� ���6
����
 � ��E�� �;
���
��+��6 �!6��
��
� ��*(�������3 ��
� ��������� ������������ ���*��� �
+
� �*
(�����
��6
��
� 
�
��� ������� *�!'���� ������ ����3

)�!� ��"
�#
�� #
��
� X1, . . . , Xn 91@��
��
�, ������ 
�������I 
�
�
�'�� ���!> �����,
ϑ ∈ Θ ⊆ R

k � *������
�, �(X1, . . . , Xn, ϑ) � �
�1
�
�� ���
��+��6;1@������, Ln(ϑ) =

Ln(X1, . . . , Xn, ϑ) � ������
��+��6;1@������, I(ϑ) � 
��+
�;1��
 ��1����(�!� �����E, ϑ̂n

*
6�� � ���
��+��6;
��
��
� ��������
�� ��0�
3 K
�
��@� '
 �� ���''� ��������������3

�� �	
�:�	���
; Λn =
�(X1, . . . , Xn, ϑ0)

�(X1, . . . , Xn, ϑ̂n)
.

<	��; Wn =
√

n(ϑ̂n − ϑ0)
�I(ϑ̂n)

√
n(ϑ̂n − ϑ0).

�	�; Vn =
1

n

[
∂

∂ϑ
Ln(ϑ0)

]
[I(ϑ0)]

−1

[
∂

∂ϑ
Ln(ϑ0)

]�
. �

� $
����;�
�����;1��
 ������������ ������� �

Λn =
�(X1, . . . , Xn, ϑ0)

sup
ϑ∈Θ

�(X1, . . . , Xn, ϑ)

��*�
��
� �� 6
C������3 �� �����*����� � 
������� �
�1����������+�� ����'�� �� 
����
6
C�8(�! ���������''3

� ���;1��
 �
���
� ������� �(��
 �
����
� �� �
�
���3
)�'� ������ � 9(9( �.�������  ���.����& ����.� −2 log Λn� Wn� �������� Vn �� ��
���*
����&'��� χ2

k ����
����� -� H0 ���
(

��������	
� ��, +��� −2 log Λn �����*����� ��� χ2
k 
�������I, ������� �6!6�� � <323

���
� 9:> �����'��3

� 6� �, +���
√

n(ϑ̂n − ϑ∗) =⇒ Nk(0, I(ϑ∗)−1)3 %��
� ϑ̂n → ϑ0 � H0 �
��
�@���


�
��� 2 ���!��8�7����
�, �� I(ϑ) ϑ;'
� 1��������, 8�� I(ϑ̂n) → I(ϑ0) � H0 �
��
�@���


�
��� 2 ���!��8�7����
�3 �
+�� Wn �� �����*����� ��� χ2

k 
�������I3

%��
� 1√
n

∂
∂ϑ

Ln(ϑ0) =⇒ Nk(0, I(ϑ0)), 8�� Vn =⇒ χ2
k3 �



��� �������

 ���!�����	���� ���������

��
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�� )��*"���
$��� U
������������

�''
� � ����'
� � F�
G6���;1��
 U;�������������� '�����8� �� +����
�������;���
��,
���'�� �� ��� �
�
�
��@� � H��(�E��;1��
 ����0���
� ����������� �����*����� � �����;
�������3

���� ".������� ������$

�� ���$ 
����'���

#
��
�
� Z1, Z2, . . . , ZN 1@��
��
� ���!��8�7���� ������!�, T *
6�� �
��
� �����
���!��8�7���� ������!, �
���
 E(T 2) < ∞ �� E(T ) = 03

�
�
�
�6�� ����� k1, k2, . . . , kN 9:��
�;>���+
�� 1@������
�, �
��
��


E(T − S)2 ���������,

�+��

9232> S =
∑N

i=1
ki(Zi).


���
��@� �
�, +��� � 1
��6�� �� ����� ���''� �
���6��� ����!���� � ��� 
�� �
�������

�� ����������� �
�����
�6��
� ����� �
�
���� ������
 ���! �
�8�����
�3

!�!� ������ �  ����  ���$�� �����$���

ki(Zi) = E(T | Zi), i = 1, . . . , N.

��������	
� #
��
�

923-> T ∗ =
∑N

i=1
E(T | Zi).

��
�
�6� '
�����, +��� �
�����
�
�, (1.1);'
� �
��6��� S;�


923<> E(T − S)2 = E(T − T ∗)2 + E(T ∗ − S)2.

K������ �� ���''� ���*��� � M�����
�
� �������N= 0, ���'�� 923<> ��� �0�
��
���3

E(T − T ∗)(T ∗ − S) =
∑N

i=1
E
[
(T − T ∗)

(
E(T | Zi) − ki(Zi)

)]
=

=
∑N

i=1
E

[
E

{
(T − T ∗)

(
E(T | Zi) − ki(Zi)

)∣∣∣Zi

}]
=

=
∑N

i=1
E

[(
E(T | Zi) − ki(Zi)

)
E {T − T ∗ | Zi}

]
= 0 .

��� ��+������� �, +��� � Zi �� � Zj 9i �= j> 1@��
��
����
 ���*���

E
{
T − T ∗ | Zi

}
= E(T | Zi) − E(T | Zi) −

∑
i
=j

E {E(T | Zj) | Zi} = 0. �

���� � ,��2�	���
��� U�����	���	
�

#
��
�

�� X ���!��8�7���� ������! 
�������1@������
 F,

�� Y ���!��8�7���� ������! 
�������1@������
 G.



�� �����%�
������ U���������� � ��

#
��
�

X1, . . . , Xm ����� X;�
,

Y1, . . . , Yn ����� Y ;��,

�+�� 1
��
���@� � ��� ����� 
������!� ���! 1@��
��
������ ��3

!�!� ��"
�#
�� � =��>�

��%��� U���	�
���
�	

923/> U =
1

m · n
∑m

i=1

∑n

j=1
ϕ(Xi, Yj),

�+�� ϕ �6��� ���������!� ���+
�� 1@������3 �

�� � (�� ��, +��� � F�
G6���;1��
 U;����������� 9�������� ����������������> �����*;
����� � ������������ '
���� �3 ���
� ��6
��'
� Y � 1
��� 2323 ���
� �
�8������
� Y
1@��
��
� ���!��8�7���� ������!� 0���
���
� �0�
�8��@� �
� U;�3 � 1@��
��
� 0���
��

��� ��������+��� � � �0�*���� +����
�������;���
��3 � *����� 
������ �� ���''�3

#
��
� Eϕ2(X, Y ) < ∞ �� �
��
�

θ = EU = Eϕ(X, Y ),

ψ(x, y) = ϕ(x, y) − θ.

�
�
�
�6�
mn(U − EU) =

∑m

i=1

∑n

j=1
ψ(Xi, Yj)

�
���'' �0�
�8���


S =
∑m

i=1
ai(Xi) +

∑n

j=1
bj(Yj)

����I 1@������
��
�, �+�� �� ai �� bj ���+
�� 1@������
�
� �
�� �
�+��������3

� 1
����
�
� ���+��! ����� ���
�� � ���6������, +��� +� X �� Y 1@��
��
�
�, �����
E {f(X, Y ) | X = x} = Ef(x, Y )3 �����

E {ψ(Xi, Yj) | Xk = x} =

{
Eψ(x, Yj), i = k;

Eψ(Xi, Yj) = 0, i �= k.

K
�
��@� '
 �� ���''� �
�0���
�
�4

ψ10(x) = Eψ(x, Y ),

ψ01(y) = Eψ(X, y).

� 1
��� �
��
����� �� �� 2323 ���
� ���*��� mn(U − EU) �
�
�
�� �0�
�8���
4
m∑

k=1

E

{
m∑

i=1

n∑
j=1

ψ(Xi, Yj)
∣∣∣Xk

}
+

n∑
�=1

E

{
m∑

i=1

n∑
j=1

ψ(Xi, Yj)
∣∣∣Y�

}
=

=

m∑
k=1

nψ10(Xk) +

n∑
�=1

mψ01(Y�).923?>
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� 

� �0�
��
�� ���
�'
� +�������� 1��� � �� ���''� �
�0���
�
�4

σ2
10 = D

2ψ10(X) = Eψ2
10(X), σ2

01 = D
2ψ01(Y ) = Eψ2

01(Y ).

!�'� ������ 2� 7��:$���* .�� U*������
��&� ��
�������&'� �����������(4 +��",&  ���
-��" m ≤ n .�

lim
n→∞
m→∞

m/n = λ,

�-�� λ ��-�� ; ��( )&&�� m, n → ∞ ����.�

T =
√

m(U − θ) =⇒ N (0, σ2
10 + λσ2

01).

2�����"���� � -��������
��� �
����� 0� �&&�� �� ��'��� ����������� � 0*�� &����������
� -��������
���(4

��������	
� :
���� �, +��� T − T ∗ → 0 L2;'
�, �� T ∗ =⇒ N ( . , . ), �+�� T ∗ �
���
�'
�� T ;+
� 923-> ���*��� ��������3 ��
�'�� Y ��� (��� ���
�� �
����� ���*��� Y
��� �0�
��
��� 1�� �� ���8���3

�����
��
�@�� ��� (��� �
�������3
F� Xn − Yn → 0 ����(+������ ���, �� Yn =⇒ Y 
�������'��,
����� Xn =⇒ Y 
�������'��3

�
�6�@� T − T ∗ → 0 L2;'
� ������������3 923?>;'��4

923D> T ∗ =
√

m

[
1

m

∑m

i=1
ψ10(Xi) +

1

n

∑n

j=1
ψ01(Yj)

]
.

923<>;'!� S = 0 ���
���
�4

923=> E(T − T ∗)2 = ET 2 − ET ∗2 = D
2T − D

2T ∗,

���
� ET = ET ∗ = 03 ������8�� � D
2(T );� �� D

2(T ∗);��3

D
2T = m

1

m2n2

∑
k,�

∑
i,j

(��
(
ϕ(Xi, Yj), ϕ(Xk, Y�)

)
=923B>

=
1

mn2

[∑
i,j

(��
(
ϕ(Xi, Yj), ϕ(Xi, Yj)

)
+

+
∑
i j �
� 
=j

(��
(
ϕ(Xi, Yj), ϕ(Xi, Y�)

)
+

∑
i j k
i
=k

(��
(
ϕ(Xi, Yj), ϕ(Xk, Yj)

)]
=

=
1

mn2

[
mn(. . . ) + mn(n − 1)(. . . ) + nm(m − 1)(. . . )

] →
→

m,n→∞
0 + (��

(
ϕ(Xi, Yj), ϕ(Xi, Y�)

)
+ λ (��

(
ϕ(Xi, Yj), ϕ(Xk, Yj)

)
=

= σ2
10 + λσ2

01.



�� �����%�
������ U���������� � ��

S������ 
������� � 1@��
��
���� ����� (��
(
ϕ(Xi, Yj), ϕ(Xk, Y�)

)
= 0, +� i �= k �� j �= �3

%������� j �= � 
�
���

(��
(
ϕ(Xi, Yj), ϕ(Xi, Y�)

)
= E

(
ψ(Xi, Yj) · ψ(Xi, Y�)

)
=

= E

(
E
{
ψ(Xi, Yj) · ψ(Xi, Y�) | Xi = x︸ ︷︷ ︸}|x=Xi

)
,

��������
Eψ(x, Yj) · ψ(x, Y�) = Eψ(x, Yj) · Eψ(x, Y�) = ψ2

10(x) .

���
� σ2
10 = Eψ2

10(Xi) ��� �6!6��3 F�����!�� σ2
01 ��3

�����@�� D
2T ∗;��3 923D> ���*���, � 1@��
��
����
� ��+��������4

D
2T ∗ = m

[
1

m2

∑m

i=1
σ2

10 +
1

n2

∑n

j=1
σ2

01

]
= σ2

10 +
m

n
σ2

01 → σ2
10 + λσ2

01.

P��, 923=> ���*���, T − T ∗ → 0 L2;'
�3

����@�� �� T ∗ =⇒ N ( . , . ) �����������3 n, m → ∞ 
�
���

T ∗ =
1√
m

m∑
i=1

ψ10(Xi)︸ ︷︷ ︸
⇓

N (0, σ2
10)

+

√
m

n∣∣
↓
λ

1√
n

n∑
j=1

ψ01(Yj)︸ ︷︷ ︸
⇓

N (0, σ2
01)︸ ︷︷ ︸

⇓
N (0, σ2

10 + λσ2
01) ,

+� λ �= 0 �� �
����'' σ2
10, σ2

01 
����
 *����8�J ���
��
 +� λ = 0 �� σ2
10 *����8� 9
�;

�
��
�� 
�
�'
� T ∗ 9+����>
�������� � .;'� ���(
�����!6��>3 � 1
��� +����
�������
�
�+���������+�� � �0�*���� +����
������� ���
�� �� � ��� 0���
� 
������!� ���! 1@��
�;
�
������ +������� � �� 9���6 � <3 �� � /3 

��6����>3 �

���� "�������


!� �� 2323 ���
� '�����8������� �
�� ��*��
���� +������� � �� � 1
����
�
� ���+��!
����� ���''� � ���6��������W
9�> E {ξ | η} �� η;��� 9:��
�;>���+
�� 1@������
3
9'> E(E {ξ | η}) = Eξ3
9(> E {ξζ | η} = ζE {ξ | η}, +� ζ η;���+
��3
96> E {a1ξ1 + a2ξ2 | η} = a1E {ξ1 | η} + a2E {ξ2 | η}, �+�� a1 �� a2 ����������3
9
> E {ξ | η} = Eξ, +� ξ �� η 1@��
��
�
�3

'� ���
�
�
�, +��� g(y) = E {ξ | η = y} �
�0����
�4 E {ξ | η} = g(η)J ���� �0�0�
';
'
�4 E {ξ | η} = (E {ξ | η = y})|y=η

3 � 1
��� �������'�� �
�� +
��
�
� +������� � 
��
�� 0���
1@�����W

)� #
��
� ξn �� ηn 1@��
��
� ���6
� n 
�
���3 �
��@� 1
�, +��� ξn ⇒ ξ �� ηn ⇒ η

�������'��3 ������� � 9� ������
������� � 1@������
� �!6��
���
�>, +��� 
���� ξn + ηn
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�������'�� ����
���� � ξ �� η 
����������� � ������I(�!��+��3 F����� ��������� � 
��
�� 23-3 ���
� '�����8������� � �����W

+� �
��@� 1
�, +��� ξn ⇒ ξ 
�������'��, an → a3 #��� � '
, +��� anξn ⇒ aξ

�������'��3

+� �������	
� ���� �!6��
�3 O
�0��
 ϕ � ������
������� � 1@�������3
�������� ϕanξn(t) = Eeitanξn = ϕξn(ant)3
%������� |ϕξn(ant) − ϕξ(ant)| ≤ ε, +� n > nε, �
�� ϕξn(t) → ϕξ(t) ���6
� ��������
���
����� �'�� 
��
��
�
�
� 9�3 ����� 92A=<>>3
F����6����� ϕξ(ant) → ϕξ(at) = ϕaξ(t), �
�� ϕ 1��������3

%���6�� �!6��
�3 ��������� � � ��� (���;�
����" ����� ��+������� �, +���
aξn ⇒ aξ 
�������'�� �� (anξn − aξn) → 0 ����(+������ ���3 ��  �!''� '
������+��
��@����
�4 � ξn ������� ����(+������ ��� �������� 9�
�� 
�������'�� ����
��
��>3

5� X�����'
� ����6;
 � F�
G6���;1��
 U;����������� �����*����� � �����������
m > n 
�
���W

5� ������	
� �� 23-3 ���
� ���''� ��������� ��� 1
��3 �
��@� 1
�, +��� m > n ��

lim
n→∞
m→∞

n/m = λ̃,

�+�� λ̃ �
+
� . ��3 ����� m, n → ∞ 
�
���

T̃ =
√

n(U − θ) =⇒ N (0, λ̃σ2
10 + σ2

01).

9��
����'
� � +����
������� ��!���� 0, ����� 
�1�� ��, *������''�� � 0;'� ���(
������,
� +����
�������3>

� '�����8���  ������, ���� �� 23-3 ���
��, (��� �
√

m +
��
��
√

n;�
� �
�� ��������3
6� X�����'
� ����6;
 �� 23-3 ���
�, +� (� *�� n → ∞, 6
 m ��������W
6� ������	
� ��
�3 ����� λ = 0 �� N (0, σ2

10) � +����
�������3 ����''�, +�
m → ∞, 6
 n ��������, ����� 9���6 �� ?3 

��6����> T̃ =

√
n(U − θ) =⇒ N (0, σ2

01),
+���
� λ̃ = 03



�� � "�

�*���
������� U�)
	#� ��

�� � +���
,������
$��� U
(	� �

���� � )����3 	�����
��� U�-�$�� ����������

� 2	

�<�
�
� �%��� U����(�� 9��� ���
� � <
�#���
�%��� �	
�/�����
���(��> ���� �*
(����� F�
G6���;1��
 ������������ �
�����@�3 #
��
� X1, . . . , Xm �����
F 
�������1@������7, �8� Y1, . . . , Yn ����� G 
�������1@������7 �������'!�3 

��
��@�
� ��� ����� 
������!� ���! 1@��
��
������ ��3 #
��
� �� F �� � G 
�������1@������
1��������3 F �� G ���� ���� ���
��
�
�, �� �**
� �� F �� G ����������� �8���� �
���������3

#
��
�

Dij =

{
1, +� Xi > Yj,

0, +� Xi ≤ Yj,

i = 1, . . . , m, j = 1, . . . , n3 �����

U ′
mn =

m∑
i=1

n∑
j=1

Dij =

m∑
i=1

( ���� (Xi) − i)

� H��(�E��;1��
 ����0���
� �����������3 ��� ���� (Xi) �� Xi �������� �� X1, . . . , Xm ��
�� Y1, . . . , Yn ������ 
��@��
� �
�6
���
 
�
���3

'�!� ������ 2� <����/��* .�� ����
��
�� ������
��&� ���-��� .��.&� .� �
�����(4

EU ′
mn = mnπ ,

D
2U ′

mn = nm
[
π − π2(n + m − 1) + (n − 1)π1 + (m − 1)π2

]
,

�-��

π = P(Y < X) =

∫ +∞

−∞
G(x)dF (x) = EG(X) = E

(
1 − F (Y )

)
,

π1 = P(Yj < Xi, Yk < Xi) =

∫ +∞

−∞
G2(x)dF (x) = EG2(X),

π2 = P(Yi < Xj , Yi < Xk) =

∫ +∞

−∞

(
1 − F (y)

)2
dG(y) = E

(
1 − F (Y )

)2
,

j �= k( =�����������
H0 : F (x) ≡ G(x)

����.�
EU ′

mn =
mn

2
,

D
2U ′

mn =
nm(n + m + 1)

12
.

��������	
� F������� � �
� 
����0� U ′
mn ���+��! �������" %��
� X �� Y 1@��
��
�,

π = P(Y < X) =

∫ +∞

−∞

∫ x

−∞
dG(y)dF (x) =

∫ +∞

−∞
G(x)dF (x) = EG(X).



�� �$� 
�"�)�
�"���
�� "	%���
� 

F� H0 : F (x) ≡ G(x) �
��
�@�, �����

π =

∫ +∞

−∞
F (x)dF (x) = EF (X) =

1

2
,

����� F (X) � [0, 1];
� 
��
��
�
� 
�������I 9���6 �� 23 

��6����>3
%������� ������� EDij = π, 8�� EU ′

mn = mnπ3 �
+�� +� H0 �
��
�@�, ����� EU ′
mn =

mn
2
3
%��� D

2U ′
mn 0���
�
���� +������� � �
�3 D

2Dij = π(1 − π) �6!6�� Dij 6
C�8;
(�!��'!� 9+���
� :
��� ���;
��������!� ��� ��!>3 � 1@��
��
���� �����

(�� (Dij , Dk�) = 0, +� i �= k �� j �= �.

� (�� (X, Y ) = E(X · Y ) − EX · EY ��*�
� ���*���

(�� (Dij , Dik) = π1 − π2, +� j �= k,

�+��

π1 = P(Yj < Xi, Yk < Xi) =

∫ +∞

−∞
P(Yj < x, Yk < x)dF (x) =

=

∫ +∞

−∞
G2(x)dF (x) = EG2(X).

F�����!��
(�� (Dij, Dkj) = π2 − π2, +� i �= k,

�+��

π2 = P(Xi > Yj, Xk > Yj) =

∫ +∞

−∞
(1 − F (x))2dG(x).

P��

D
2U ′

mn =
m∑

i=1

n∑
j=1

D
2(Dij) +

∑ ∑
j 
=k

(�� (Dij, Dik)+

+
∑ ∑

i
=k

(�� (Dij, Dkj) +
∑ ∑

i
=k
j 
=�

(�� (Dij , Dk�) =

= nmπ(1 − π) + mn(n − 1)(π1 − π2) + nm(m − 1)(π2 − π2) =

= nm
[
π − π2(n + m − 1) + (n − 1)π1 + (m − 1)π2

]
.

�*
(�������, H0 : F (x) ≡ G(x) 
�
���

π1 =

∫ +∞

−∞
F 2(x)dF (x) = EF (X)2 =

1

3
, π2 =

1

3
,

�+�� �
���� �� F (X) ���!��8�7���� ������! [0, 1];
� ���! 
��
��
�
� 
��������� +������� �
��3 �
+�� H0 
�
���

D
2U ′

mn =
nm(n + m + 1)

12
. �



�� � "�

�*���
������� U�)
	#� ��

���� � )����3 	���������	���	
�  ������������� �

,��2�	�������	���	
� ���-���

#��� �, +���

ϕ(x, y) =

{
1, +� x > y,

0, +� x ≤ y


�
��� U ′
mn = mnU �**
� � %���;H+���
�;�����������, �+�� U � F�
G6���;�����������3

����� 9���6 � <3 

��6����>

9-32> σ2
10 = π1 − π2 �� σ2

01 = π2 − π2 .

�
+�� �� -32 ���
� ���*��� σ2
10 = D

2G(X) �� σ2
01 = D

2
(
1 − F (Y )

)
= D

2F (Y )3
%��� ��� �� 23- ���
� �
�8������
� �
� � 6� � ���������, +��� U ′

mn ����� �
�� ���;
��*����� ��� ��������, ���
��
 ����� 
�1�� ��3 F� λ > 0, I�� U ′

mn ����� �
�� 
�1�� ��
9�����*����� ��� �� ���
� m, n;�
 ��>, +� σ2

10 = σ2
01 = 03

0 = σ2
10 = D

2G(X) ⇐⇒ P(G(X) = (����3 ) = 1 ⇐⇒

G(x) = c, +� x ∈ (a, b] �� P
(
X ∈ (a, b]

)
= 1,

���� X �� Y 
�������� � ����
��
�
�
� �� ���''� ���� ��
���� ���� � 9�+�� a = ∞, ���3
b = ∞ �� �
+
����
�>

︸ ︷︷ ︸
Y

|
a
︸ ︷︷ ︸

X

|
b
︸ ︷︷ ︸

Y
.

σ2
01 = 0 �
�
����
 +�����!3 �
+��

σ2
10 = 0 �� σ2

01 = 0 ⇐⇒ P(X ≤ Y ) = 1 ���� P(X > Y ) = 1.

�� 
��� 
�
�'
� U ′
mn = 0, � ����6��'�� U ′

mn = mn, ���� �����@� 6
�
���������� �3
�
+��, +� λ > 0, 
�
� 
�1�� �� 
�
�
���� 
��
�����
 U ′

mn �����*����� ��� ��������3
F� H0 �
��
�@�, ����� 
�
� �� 
�1�� �� 
�
�
� �
� 1��6 ���� 
��3

'�'� ������ 2� <����/��* .�� ����
��
�� ������
��&� ��
�������&'� �����������(4 +��",&
 ��� -��" F .� G  ��"������ �������� H0 : F (x) ≡ G(x) ������,�( 7� m, n → ∞ ��"�
-��" m/n → λ� �&&��

U ′
mn − mn

2√
nm(n+m+1)

12

����$��$�
��� <����/��* .�� ����
��
�� ������
��&� ����
���� � ����$��$ �������� ����
*
���-�
 &��������(

��������	
� ����� �
� σ2
10 = 0, �
� σ2

01 = 0 �
� 1��6 �+�� 
��3 �
+�� 
���� � 23-
���
�'
�� � +����
������� �
� �
+
� 
�1�� ��3 9#��6 �� ?3 

��6���� ��"> �

� H��(�E��;1��
 ����0���
� *�!'� �
8���� �
������+��! �� ���''� +
��
�
�4 V�''���
92A=2>, 2/-;2/D3 �3, #
+����Z&[�'�
� 92A=?>, -.3 �3 �� �����*����� � ����������
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'�����8���� #
+����Z&[�'�
� 92A=?>, <D-3 �3, �8� �� ������������ F�����6
�ZH��1

92A=<>, DB3 �3 �� K��(�
ZK��'����� 92AA<>, 2.23 �3 �
�+
���3

���� "�������


!� #
��
� � ξ 
�������1@������
 �� F (x) 1�������� 1@������3 #��� � '
, +��� F (ξ)

��
��
�
� 
�������I � [0, 1];
�"

!� ������	
� :
���� �, +��� F (ξ) 
�������1@������
 �**
� � [0, 1];
� 
��
��
�
�

�������1@������3 P(F (ξ) < y) = 0, +� y ≤ 0, �� P(F (ξ) < y) = 1, +� y > 1,
����������!3 #
��
� 0 < y ≤ 1 �0��8�
��3 :
���� �, +���

F (a) < y ⇐⇒ a < xy,

�+�� xy = sup {x : F (x) < y}3 S������, +� a < xy, ����� a < x0 �
����'' 
��
x0;�� �� {x : F (x) < y} +�����'!�3 &
 ����� F (a) ≤ F (x0) < y3 � ����� �����;
+�� '
���� �, +��� F (xy) = y3 F ������� �0�
��� �� 1�������� �����'!�4 F (xy) =
sup {F (x) : F (x) < y}3 &
, ������� F 1�������� �����'!�, 
�  �!''� �**
� y;��� 
��
���3
K���������
 � ����� �����+��4 +� F (a) < y, ����� Y �� F ������� �0�
��� ������ ��
+�������� Y a < xy3 K��@� F (ξ) 
�������1@��������
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)� ������	
�

σ2
10 = D
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(P(Y < x))|x=X

}
=

= D
2
{
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= D

2G(X) = EG2(X) − (EG(X))2 =

= π1 − π2.
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��
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�������I3 :���
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��1����� ���!��8�73
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+�� π1 = P(Yj < Xi, Yk < Xi) = 1/33
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